


CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONTENTS 50Hz
Rev. G
Page
- SPECIFICATION 200
SPECIFICATION 201
SELECTION CHART 203-204
TYPE KEY AND CURVE SPECIFICATIONS 205-206
PERFORMANCE CURVE 32-125 207
PERFORMANCE CURVE 32-160 208
PERFORMANCE CURVE 32-200 209
PERFORMANCE CURVE 40-125 210
PERFORMANCE CURVE 40-160 211
PERFORMANCE CURVE 40-200 212
PERFORMANCE CURVE 50-125 213
PERFORMANCE CURVE 50-160 214
PERFORMANCE CURVE 50-200 215
PERFORMANCE CURVE 65-125 216
PERFORMANCE CURVE 65-160 217
PERFORMANCE CURVE 65-200 218
PERFORMANCE CURVE 65-250 219
PERFORMANCE CURVE 80-160 220
PERFORMANCE CURVE 80-200 221
PERFORMANCE CURVE 80-250 222
- CONSTRUCTION 300
SECTIONAL VIEW DRAWING 3(.)M4 32, 40, 50, 65-125/160/200 300
SECTIONAL VIEW TABLE 3(.)M4 32, 40, 50, 65-125/160/200 301
SECTIONAL VIEW DRAWING 3LM4 80-160 302
SECTIONAL VIEW TABLE 3LM4 80-160 303
SECTIONAL VIEW DRAWING 3LM4 65-250, 80-200/250 304
SECTIONAL VIEW TABLE 3LM4 65-250, 80-200/250 305
SECTIONAL VIEW DRAWING 3(.)S4 32, 40, 50, 65-125/160/200 306
SECTIONAL VIEW TABLE 3(.)S4 32, 40, 50, 65-125/160/200 307
SECTIONAL VIEW DRAWING 3LS4 80-160 308
SECTIONAL VIEW TABLE 3LS4 80-160 309
SECTIONAL VIEW DRAWING 3LS4 65-250, 80-200/250 310
SECTIONAL VIEW TABLE 3LS4 65-250, 80-200/250 311
SECTIONAL VIEW DRAWING 3(.)P4 32, 40, 50, 65-125/160/200 312
SECTIONAL VIEW TABLE 3(.)P4 32, 40, 50, 65-125/160/200 313
SECTIONAL VIEW DRAWING 3LP4 80-160 314
SECTIONAL VIEW DRAWING 3LP4 65-250, 80-200/250 315-316
SECTIONAL VIEW TABLE 3LP4 80-160 317
SECTIONAL VIEW TABLE 3LP4 65-250, 80-200/250 318
100

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONTENTS 50Hz
Rev. G
BEARINGS 3(.)M4-3(.)S4 319
BEARINGS 3(.)P4 320
MECHANICAL SEAL (standard, H and E version) 321
MECHANICAL SEAL (L version & 22) 322
MECHANICAL SEAL (L version @ 30) 323
MECHANICAL SEAL (HS version) 324
MECHANICAL SEAL (HW and HSW version) 325
COUPLING 3(.)S4 326
FLEXIBLE COUPLING 3(.)P4 327
FITTINGS 328-329
- DIMENSIONS AND WEIGHT 400
PUMP 3(.)M4 32, 40, 50, 65-125/160/200 400
PUMP 3(.)M4 65-250, 80 401
PUMP 3(.)S4 32, 40, 50, 65-125/160 402
PUMP 3(.)S4 50, 65-160/200 403
PUMP 3LS4 65-250, 80 404
PUMP 3LS4 80-160/1.5 405
PUMP 3(.)P4 32, 40, 50, 65-125/160/200 406
PUMP 3LP4 65-250, 80 407
PACKING 3(.)M4 408
PACKING 3(.)S4 409
PACKING 3(.)P4 410
- TECHNICAL DATA 500
MOTOR DATA 3(.)M4 500
MOTOR DATA 3(.)S4-3(.)P4 501
NOISE DATA 3(.)M4 502
NOISE DATA 3(.)S4-3(.)P4 503
101

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

SPECIFICATION

50Hz

Rev. G

Version

w
<
N

354

3P4

3LM4

3LS4

3LP4

Pump sizes

32-125

32-160

32-200

40-125

40-160

40-200

50-125

50-160

50-200

65-125

65-160

65-200

65-250

80-160

80-200

80-250

B Available also with H, HS, HW, HSW, E version for 32, 40, 50, 65-125/160/200.

@ Available also with H, HW, HSW, E version for 65-250, 80.

— Not available.

200

EBARA PUMPS EUROPE S.p.A.



3 SERIES 4 Poles

CENTRIFUGAL PUMPS

SPECIFICATION 50Hz
Rev. G
Version 3M4 ! 354 3P4 [ 3Lm4 3LS4 3LP4
Clean water and moderately aggressive fluids
Type of liquid / Drinking water and water contains
glycol for E option
Liquid min. -10 min. -10
ng:(ljled max. +90 min. -20 (E version)
Temperature °C] max. +110 (H-HS-HW-HSW version) max. +110
P max. +120 (E version) max. +110 (H-HW-HSW version)
max. +120 (E version)
(For version see page 321+325) (For version see page 321+325)
Maximum working pressure [MPa] 1

Impeller

Closed centrifugal type for 32, 40, 50 version
Reinforced laser welding for 40-200/1.5, 50-200/2.2
Closed centrifugal three dimensional blades for 65 and 80 version

80-160/200/250

Construction Mechanical seal with stationary rin
Shaft seal type Mechanical seal ) hary ring
secured against rotation
Bearing Bearing with contact seal
32-125/160/200 Flange DN50 according DIN 2532 Standard
40-125/160/200 .
Suction 50-125/160/200 Flange DN65 according DIN 2532 Standard
65-125/160/200/250 Flange DN80 according DIN 2532 Standard
Pipe 80-160/200/250 Flange DN100 according DIN 2532 Standard
Connection 32-125/160/200 Flange DN32 according DIN 2532 Standard
40-125/160/200 Flange DN40 according DIN 2532 Standard
Discharge 50-125/160/200 Flange DN50 according DIN 2532 Standard
65-125/160/200/250 Flange DN65 according DIN 2532 Standard
80-160/200/250 Flange DN80 according DIN 2532 Standard
32-125/160/200
Casin 40-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
9 65-250 / EN 1.4401 (AISI 316)
80-160/200/250 made by precision casting
32-125/160/200
40-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Impeller 50-125/160/200
P 65-125/160/200 EN 1.4401 (AIS| 316) made by precision casting
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 made by precision casting
32-125/160/200
40-125/160/200
Casing cover 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
9 65-125/160/200
. 65-250 EN 1.4401 (AISI 316)
Material /

made by precision casting

32-125/160/200
40-125/160/200

Ceramic/Carbon/NBR

Mechanical 50-125/160/200 (See page 321+325) SiC/SiC/FPM (L version)
seal 65-125/160/200 (See page 321+325)
65-250 /
80-160/200/250
O-ring NBR FPM
(See page 321+325) (See page 321+325)
32,40, 50,65 |d=19
Shaft 50-200/2.2 d=22 EN 1.4301 (AISI 304)
80-160 d=19 EN 1.4404 (AISI 316L)
65-250 /
80-200/250 | 9724
Bracket Cast iron - Aluminium

Applicable standard of test

1ISO 9906 — Annex A

201

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

SPECIFICATION 50Hz
Rev. G
MOTOR
3(.)M4 | 3(.)S4 | 3(.)P4
Type Electric - TEFC
Three Phase
Efficiency level (Reg. 640/2009) |E2frf(:(r)nm0(.)2.755kl\</xvu5p:?oo.75.55 .
No. of Poles 4
Rotation speed [min'1] ~ 1400
Insulation Class F (class B fot temperature rise)
Protection degree (CEI EN 60034-5) IP 55
Power rating [kW] 025+7.5
[HP] 0.33+10
Frequency [HZ] 50
220-240/380-415
5%
(up to 0.55 kW) 230/400 £10%
230/400 £10% up to 4.0 kW
Voltage V] (from 0.75 up to 4(10%/690 1100/3,
4.0 kW) (5.5 kW and above)
400/690 £10%
(5.5 kW and above)
Over load protection Provided by the user
Casing material Aluminium
Motor support Cast iron - Alluminium
o PG135 M20x1.5
Dimensions of cable entry M25x1.5
PG16 M32x1.5
PG21 )
IM B5
up to 1.5 kW
Flange mount (IEC motor) / ( pIM B35 ) IM B3
(2.2 kw and above)
202

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

SELECTION CHART 50Hz
Rev. G
U.S.g.p.m. 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600
] ] ] ] ] | ] 1 1 1 | ] 1 1 1 ] | ] ] ] |
I I I I [ I I T 1 I I I T 1 [ I I I I
Imp.gp.m. 20 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
30
H 80-250/75 u S H
[m] 20 [ft]
32-200/0.75
—— i ——— 1200/
15 S G
3 D
2-20 - 4.
| 0/0.554 %20 77
10 -0/ LT yl. L
71
9 32-160/0.37 e TN I
8 BRNE ST “H\
N S~
7 32—160/0_37R ~0N TSNS 0‘
~ 10‘ N 35
TN ) Iy
LR aanl I SUEEY SRR
— |92~ N 7
I ——y N TN
Ty
T LRY
' N
N \
TR
3 \\u‘%)‘
N\
? W
\
2
1 / //
50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q [I/min]
[ I I I I I T 1 I I I T 1 I I I I I I I ]
3 4 5 6 7 8 910 12 14 161820 25 30 40 50 60 70 100 150Q[ e
m
203

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

SELECTION CHART 50Hz

Rev. G
3 SERIES 4 Poles: 32, 40, 50 Version
Power Q=Capacity
Pump type I/min 0 } 50 } 100 } 150 } 175 } 200 } 250 } 300 } 350 } 400 } 500 } 600 } 650
méh 0 3 6 9 10.5 12 15 18 21 24 30 36 39
(kW | [HP] H=Total manometric head in meters
32-125/0.25 0.25]0.33 5.7 55 4.7 35 2.8 - - - - - - - -
32-160/0.37R 0.37| 05 73] 7 6.2 5 4.2 - - - - - - - -
32-160/0.37 037 ] 05 9 87 8.1 7 6.3 - - - - - - - -
32-200/0.55R 0.55 | 0.75 10.8] 10.3 9.2 7.3 6.2 - - - - - - - -
32-200/0.55 0.55 | 0.75 125 12 11 9.2 8 - - - - - - - -
32-200/0.75 075] 1 17.5] 1741 16.1 143 | 132 - - - - - - - -
40-125/0.37R 0.37] 0.5 51 - 4.8 4.5 4.3 4 3.4 26 1.8 - - - -
40-125/0.37 0.37 ] 05 65 - 6.3 6 5.8 5.5 4.9 4.2 3.4 - - - -
40-160/0.55R 0.55 | 0.75 77 - 7.3 6.9 6.6 6.3 5.7 5 43 - - - -
40-160/0.55 0.55 | 0.75 9.1 - 8.6 8.1 7.8 75 6.9 6.2 5.4 - - - -
40-200/1.1R 11| 15 116 - 11.2 10.8 10.5 10.1 9.4 8.6 7.8 - - - -
40-200/1.1 11| 15 136 - 13.2 12.7 12.4 12.1 114 10.6 9.6 - - - -
40-200/1.5 15 2 18] - 177 | 173 17.1 16.8 | 16.1 15.2 14.2 - - - -
50-125/0.55R 0.55 | 0.75 54| - - - - 5.2 5 4.7 4.4 4 3.2 2.3 -
50-125/0.55 0.55 | 0.75 6.4 - - - - 6.2 6 5.7 5.4 5 4.2 3.3 -
50-160/1.1R 11| 15 82| - - - - 7.8 76 7.2 6.9 6.4 5.5 45 4
50-160/1.1 11| 15 95 - - - - 9.1 8.9 8.6 8.3 7.9 7 6 5.5
50-200/1.5R 15 | 2 127 - - - - 12.1 11.8 1.4 11 10.5 9.3 8 7.2
50-200/1.5 15 | 2 14 - - - - 13.3 13 12.7 122 | 118 10.6 9.2 8.4
50-200/2.2 22 | 3 17.8] - - - - 175 | 17.3 17 166 | 16.2 15.1 138 | 13.1
3 SERIES 4 Poles: 65, 80 Version
Power Q=Capacity
Pump type I/min 0| 300 | 350 500 | 600 800 | 950 1000 1050 1100 1200 1300 1400 1600 1800 | 2000 | 2200
KW | HP] m3/h 0| 18 21 30 36 48 57 60 63 . 66. 72 78 84 96 108 120 132
H=Total manometric head in meters
65-125/0.55 0.55 | 0.75 53[ 48] 46 | 4 | 35| 23 | 14 - - - - - - - - - -
65-125/0.75 0.75 1 64| 6 5.8 52 4.6 35 25 2.2 - - - - - - - - -
65-125/1.1 1.1 1.5 77| 7.2 7 6.3 57 4.5 35 3.2 2.8 - - - - - - - -
65-160/1.1 1.1 1.5 8.6 - 8.1 74 6.9 5.7 4.6 4.2 3.8 - - - - - - - -
65-160/1.5 15| 2 97/ - | 92| 85| 8 | 67| 57| 53 | 49 | 45 - - - - - - -
65-160/2.2 22| 3 18] - [113] 106|101 | 88 | 76 | 72 | 68 | 64 | 55 - - - - - -
65-200/2.2R 2.2 3 13 - 124 | 116 | 109 | 93 7.8 7.3 6.8 - - - - - - - -
65-200/2.2 2.2 3 14.5 - 13.9 13 124 | 108 | 9.3 8.8 8.3 7.8 - - - - - - -
65-200/3 3 4 163 - | 158 | 15.1 | 144 | 129 | 116 | 111 | 106 | 10.1 9 - - - - - -
65-250/4 4 | 55 188 - - 181176 161 | 147] 142 | 137 | 13 | 116 | 98 - - - - -
65-250/5.5 5.5 7.5 21.8 - - 212 | 20.8 | 19.6 | 18.4 17.9 17.5 17 15.8 14.4 12.8 - - - -
80-160/1.5 1.5 2 73| - - - 6.8 6.3 59 5.7 5.6 54 5 4.6 4.2 34 24 - -
80-160/2.2R 2.2 3 8.6| - - - 8.1 7.8 7.4 7.3 71 7 6.7 6.4 6 5.2 4.2 3 -
80-160/2.2 22 | 3 95 - - - | 91 ] 88| 84| 83 | 82 8 78 | 74 | 71 | 62 | 52 | 41 -
80-200/3 3 4 12.4| - - - 12 115 ] 109 10.7 104 10.2 9.7 9.2 8.6 7.3 59 4.2 -
80-200/4R 4 55 148 - - - 144 | 139 | 134 13.2 12.9 12.7 12.2 11.7 1.2 10.1 8.8 7.2 5.6
80-200/4 4 55 16.0| - - - 154 | 149 | 143 141 13.9 13.7 13.2 12.8 12.3 111 9.9 8.4 6.7
80-250/5.5R 55 7.5 185 - - - 17.7 17 16.3 16 15.7 15.4 14.6 13.8 12.9 10.7 8.4 - -
80-250/5.5 55 | 7.5 212 - - - | 205|199 191 189 | 186 | 182 | 176 | 168 | 159 | 138 | 117 | 93 -
80-250/7.5 7.5 10 245 - - - 24 234 | 228 | 225 22.2 21.9 21.3 20.6 19.8 18 15.9 13.5 10.8

204

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

TYPE KEY AND CURVE SPECIFICATIONS 50Hz
Rev. G
TYPE KEY:
L3 e [m] [a] [H] [65]-[m0]s[22] [R]
REDUCED IMPELLER
0.37
POWER CODE 2.2
3
5.5
125
IMPELLER CODE 160
200
250
32
40
DISCHARGE SIZE 50
65
80
H
HS
OPTIONS MECHANICAL SEAL AW
HSW
E
MOTOR 4 POLES
M
MODEL S
P
For versions 32 , 40, 50 AlSI 304 *
65-125/160/200 AISI 316L L
For versions 65-250 , 80 AlSI 316 L
3 SERIES

(*) No indication

205

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

TYPE KEY AND CURVE SPECIFICATIONS 50Hz

Rev. G

PERFORMANCE CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906 Annex A

The curves refer to effective speed of asynchronous motors at 50 Hz

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?%s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate
H = total head
P, = pump power input (shaft power)

n pump efficiency
net positive suction head required by the pump
minimum efficiency index

<
m
T

The minimun efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean
efficiency. The minimum efficiency index is based on the hydraulic efficiency and on the head at the best
efficiency point.

The benchmark for most efficient water pumps is MEI = 0,70. Information on benchmark efficiency is
Available at: www.ebaraeurope.com

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller
diameter. The trimming of the impeller will adapt the pump to a fixed duty point,leading to a reduced
energy consumption. The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variabile duty points may be more efficient end economical when
controlled,for example,by the use of a variable speed drive that matches the pump duty to the system

206

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz
Rev. G
32-125/0.25 (0.25 kW) MEI >0.5 — impeller diameter = 133 mm
0 USgpm 10 15 20 25 30 35 40 45 50
| ] ] ] ] ] | ] ] ] ]
(I) Imp.g.p.mI 1I0 1I5 2I0 2I5 3I0 3I5 4IO
H T ~1 M
[m] [ft]
\\
N7
5 2
\\5/0.35 16
\\\
N
\\ —14
4 \~\
\\ 12
\\ NPSH
N o] 8]
3 ‘\ i 15
— 3110
NPSH _— 2 8
1
2
0 50 100 150 Q [I/min]
[ I I I I I ]
0 2 4 6 8 10 Q [m3/h]
016
P2
(kW] o —T | 125/0.25 |
//
0.08
0 50 100 150 Q [I/min]
70
n
[%] 60 —— —
5 _— 125/0.25 |
7
/
40
0 50 100 150 Q [I/min]
Rotation speed = 1400 min”
Test standard: ISO 9906 — Annex A
207

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. G

32-160/0.37R (0.37kW) MEI >0.7 — impeller diameter = 151 mm
32-160/0.37 (0.37kW) MEI >0.7 — impeller diameter = 166 mm

0 US.g.pm. 10 15 20 25 30 35 40 45 50
| | | | | | | | | | |
| I I I I I I I I
0 0 Imp.g.p.m. 10 15 20 25 30 35 40
H - —30 H
[m] T —— - [ft]
T— 4 QJ
8 = \7
T~ 25
———L | \\
T—
T~ 760/0 \\‘
37 ™~
6 20
\
~ [m] [ft]
4 A 4
12
3410
NPSH — ||,
B E—— 6
1 4
2
2
0 50 100 150 Q [1/min]
[ I I I I I ]
0 2 4 6 8 10 Q [m3/h]
O.4 ‘ ‘
P2 160/0.37
0.2 160/0.37R 7
01 [
0 50 100 150 Q [I/min]
70 T T
n 160,/0.37
[7] o |
50 ’/¢,‘ 160/0.37R
30
0 50 100 150 Q [I/min]

Rotation speed = 1400 min”
Test standard: ISO 9906 — Annex A

208

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 SERIES 4 Poles

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50Hz
Rev. G
32-200/0.55R (0.55 kW) MEI >0.7 — impeller diameter = 186 mm
32-200/0.55 (0.55kW) MEI >0.7 — impeller diameter = 200 mm
32-200/0.75 (0.55kW) MEI >0.7 — impeller diameter = 224 mm
0 USgpm. 10 15 20 25 30 35 40 45 50
| ] ] ] ] ] | ] ] ] ]
(I) Imp.g.p.m.I 1IO 1|5 2|O 2|5 3IO 3|5 4IO
20
- 60
H 1 i H
= 0
[m] \\\O/Oﬁ [ft]
—
15 - - 50
\\
\\'
—— - 40
10 I 20
\L/Oii/? I~ 30
\\\ v
T~ NPSH
] [
5 5 45
4
NPSH - 31010
2
5
1
0 0
0 50 100 150 Q [I/min]
[ I I I I I ]
0 2 4 6 8 10 Q [m3/h]
O.8 ‘ ‘
P2 — 200/0.757]
[kw] 06 I — T
o4 200/0.55 |
200/0.55R
0.2
0 50 100 150 Q [I/min]
60 —
n 200/0.75
P 1
[ w0 200,/0.55 |
=
200/0.55R —7///
20
0 50 100 150 Q [I/min]
Rotation speed = 1400 min™'
Test standard: 1ISO 9906 — Annex A
209

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

[(m] &

0.4

0.2
0.1

80
(%] 70
60

50

Rev. G

40-125/0.37R (0.37 kW) MEI >0.7 — impeller diameter = 125 mm
40-125/0.37 (0.37 kW) MEI >0.7 — impeller diameter = 140 mm

0 USgpm. 20 30 40 50 60 70 80 90 100
| ] ] ] ] ] | ] ] ] ]
| I I I I | I I I
0 Imp.g.p.m. 20 30 40 50 60 70 80
- 22
e . H
\\\ 725 20 [ft]
18
\_\\' \ 16
'\\\\ /2
N~ —14
\O-J)/P \\
\\ N\ 12
\ N
\\ NPSH [~10
N\ [m] []
4 L
\\ [ 8
310
RN
NPSH - — 24,
B -4
4
0 100 200 300 Q [1/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m¥n]
.
125/0.37—
= b
— 125/0.37R
| |
||
0 100 200 300 Q [1/min]
_— ~_ 125/0.37 |
125/0.37R
s T
0 100 200 300 Q [1/min]

Rotation speed = 1400 min”
Test standard: ISO 9906 — Annex A

210

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz
Rev. G
40-160/0.55R (0.55 kW) MEI >0.4 — impeller diameter = 151 mm
40-160/0.55 (0.55 kW) MEI >0.4 — impeller diameter = 166 mm
0 US.g.pm. 20 30 40 80 100
| ] ] ] ] ] ]
(I) Imp.g.p.m. 2|O 3|0 7|0 8|0
10
H - —30 H
[m] T [ft]
8 T~
T T —— _25
—
D
6 \\\ - 20
N
~
N NPSH |45
TN | |[m] [ft]
4 4,
3410
8
- 21 ¢ —10
1 4
2
2
100 300 Q [I/min]
[ I I I I I I I ]
2 4 6 8 10 8 22 Q [m3/h]
0.5 —
Py 160,/0.55
160,/0.55R
0.3 —
'4/
0.2
100 300 Q [I/min]
70
n
[#] 60 =
160/0.55R /VA/
50
1~160/0.55
40 -
100 300 Q [I/min]
Rotation speed = 1400 min”
Test standard: ISO 9906 — Annex A
211

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. G

40-200/1.1R (1.1 kW) MEI >0.7 — impeller diameter = 183 mm
40-200/1.1 (1.1 kW) MEI >0.7 — impeller diameter = 200 mm
40-200/1.5 (1.5 kW) MEI >0.7 — impeller diameter = 224 mm

0 US.gpm. 20 30 40 50 60 70 80 90 100
| ] ] ] ] ] | ] ] ] ]
| I I T T [ T T T
20 0 Imp.g.p.m. 20 30 40 50 60 70 80
H | 60 H
[m] T T —— 200/1.5 [ft]
I
15 ~ L 50
\\‘
\ 40
IR e e 2oo| T~
10 \\/J‘R ~
T~—_ [ wes |y,
~ [m] [ft]
3410
8
NPSH | 2Fs
142
2
5
0 100 200 300 Q [I/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q [m3h]
1.4 T T
P, — 200,/1.5—
g | |
kw T T
[ ]0.8 —— e 200/1.1—
200/1.1R
0.2 —
0 100 200 300 Q [I/min]
70 —_—
n 01 %ﬁ—g
200/1.1R\__L—=—==
[%] 60
50 200/1.14 i
i 77 200/1.5
40 i :
0 100 200 300 Q [I/min]

Rotation speed = 1400 min™'
Test standard: ISO 9906 — Annex A

212

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. G

50-125/0.55R (0.55 kW) MEI >0.4 — impeller diameter = 131 mm
50-125/0.55 (0.55 kW) MEI >0.4 — impeller diameter = 140 mm

0 USgpm. 40 60 80 100 120 140 160 180
| | | | | | | | | |
| I I I I [ | I
, 0 Impgpm. 20 40 60 80 100 120 140
22
H T T T T —— H
\'
m] 6 ~~_ 20 ()
\\ 725/
—— Ty \\ 055 18
. T~
NN 729 | ‘ N 16
N,
&%
N N —14
4
™N N 12
N
3 NPSH [~10
N [m] [#t]
44 L
1|8
2 — 3110
| 8 6
NPSH — )
=1 6
1 e
0 100 200 300 400 500 600 Q [1/min]
[ I I I I I I I I
0 5 10 15 20 25 30 35 Q [m3h]
05 —
L 125/0.55
P2 o4 _ —T | \/\
[kw] — 125,/0.55R
/’
0.3 — =
0.2
0 100 200 300 400 500 600 Q [1/min]
80
n
%] 70 ] —
[ _— ~L ] 125/055 ]
60 ~d ]
125/0.55R |
3} 11
0 100 200 300 400 500 600 Q [1/min]

Rotation speed = 1400 min”
Test standard: ISO 9906 — Annex A

213

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz
Rev. G
50-160/1.1R (1.1 kW) MEI >0.3 — impeller diameter = 154 mm
50-160/1.1 (1.1 kW) MEI >0.3 — impeller diameter = 166 mm
0 US.g.pm. 40 60 80 100 120 140 160 180 200
| ] ] ] ] | ] ] ] ]
| I I I I | I I I
100 _mpgpm. 40 60 80 100 120 140 160
H I —30
[m] T~ [
L N6
8 = \%7
I~ Ny 25
N i N
\\3/7 ® \\
‘\ \\
6 N 20
\\\ \\=
AN
N
15
4 \\= NPSH
[m] [#t]
4
Fal 3 :[2> —10
/'
NPSH | 8
| 2 ¢
2 4
0 100 200 300 400 500 600 700 Q [1/min]
0 : 10 15 2 2 30 3 4 45 Q [m3/h]
1.0
]
P I
[sz] 08 — 160/1.1
— i
06 = 160/1.1R
0.4 m | 1]
0 100 200 300 400 500 600 700 Q [1/min]
80
T
n 160/1.1
[%] 70 = = —H
™ 160/1.1R
60
50 |
0 100 200 300 400 500 600 700 Q [1/min]
Rotation speed = 1400 min™'
Test standard: ISO 9906 — Annex A
214

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz
Rev. G
50-200/1.5R (1.5 kW) MEI >0.6 — impeller diameter = 191 mm
50-200/1.5 (1.5 kW) MEI >0.6 — impeller diameter = 200 mm
50-200/2.2 (2.2 kW) MEI >0.6 — impeller diameter = 224 mm
0 USgpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
2 (I) Imp.g.p.m.I 4|0 6|0 8|0 1(|)0 12|0 1110 1(‘!:0
H -60 H
[m] T T — [ft]
20,
T2
™~
15 \\\ 50
N
T = N
i~ ~
— <L \\\\ \200 )15 40
NG NN
10 N ™ ~
\\‘ NG NPsth 20
NN [m] [ft]
6+ 20
N Pl
NPSH T 10
2 20
5
5
0 100 200 300 400 500 600 700 Q [1/min]
<|> é 1|o 1|5 2‘0 2‘5 3‘0 3‘5 4‘0 4|5 Q [m3/h]
22 .
Py B T | 200/2.2
[kW] T ]
14 E—— 200/1.5
e 200/1.5R
06 T EEE
0 100 200 300 400 500 600 700 Q [1/min]
80
RN | \
i 200/1.5R- ' =
: - N
(%] //, 200/1.5
60 /;f/
[~
200/2.2
40 I
0 100 200 300 400 500 600 700 Q [1/min]
Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A
215

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. G

65-125/0.55 (0.55 kW) MEI >0.5 — impeller diameter =128 mm
65-125/0.75 (0.75 kW) MEI >0.5 — impeller diameter = 138 mm
65-125/1.1 (1.1 kW) MEI >0.5 — impeller diameter = 149 mm

0 USgpm. 50 100 150 200 250 300
| | | | | | |
| I I I I [
. 0 Imp.gpm. 50 100 150 200 250
————_ | 25
H ~ H
[m] N [ft]
— L \
- T -~ /
8 ~ 25/7.; 20
\\ 0
— - — N~ N
\“\\\ 7\\15 15
) N~ \72 NG - ~
)
™ \\\ N ~10
\\ A NPSH
~N [m] [ft]
2 4,
N 3-1-101-5
NPSH — " |,
sy
2
0 0
0 200 400 600 800 1000 Q [I/min]
[ I I I I I I I
0 10 20 30 40 50 60 Q [m3/h]
0.9 T T
Py —— 125/1.10—
[kW] /’4 i i
06 ——T 125/0.75
— 1 1
. . 125/0.55
0 200 400 600 800 1000 Q [I/min]
80
N ;’ —~—
9 N
. 60 NN T 125/1.10_
N A
125/0.75—
125/0.55 ]|
40 —
0 200 400 600 800 1000 Q [I/min]

Rotation speed = 1400 min™'
Test standard: ISO 9906 — Annex A

216

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

H
[m] 10
8
6
4
2
0
2
Pa
kW
[ ]1.2
0.4
80
n
(7]
70
60

Rev. G

65-160/1.1 (1.1 kW) MEI >0.7 — impeller diameter = 161 mm
65-160/1.5 (1.5 kW) MEI >0.7 — impeller diameter = 168 mm
65-160/2.2 (2.2 kW) MEI >0.7 — impeller diameter = 178 mm

0 US.gpm. 50 100 150 200 250 300 350
| | | | | | | |
| [ [ I [ [ |
) 0 Imp.g.p.m. 50 100 150 200 250 300
T T T
TN -35 H
76, [ft]
o ——— =L
=~ \\\ 30
. - NG
T~ 7,
N %, 5 § L 25
~ | 7SN\ \\
™ \0/ NG NG
g / N
/ ™ 20
N ™ NPSH
N ~N
™ N [m] [ft]
N 15
N il
A 12
J/ s410k10
r/ —8
NPSH — 2,
=5
4
2
0
0 200 400 600 800 1000 1200 Q [I/min]
[ [ [ [ [ [ [ [ [
0 10 20 30 40 50 60 70 Q [m3/h]
T T
160/2.2 | |
—
—T 160/1.1
| | |
0 200 400 600 800 1000 1200 Q [I/min]
~ ~
R 160/1.5
N N 160/2.2
160/1.1N
| |
|
0 200 400 600 800 1000 1200 Q [I/min]

Rotation speed = 1400 min™'
Test standard: ISO 9906 — Annex A

217

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz
Rev. G
65-200/2.2R (2.2 kW) MEI >0.7 — impeller diameter = 190 mm
65-200/2.2 (2.2 kW) MEI >0.7 — impeller diameter = 201 mm
65-200/3 (3.0 kW) MEI >0.7 — impeller diameter = 212 mm
0 US.gpm. 50 100 150 200 250 300 350
| ] ] ] ] ] | ]
8 (I) Imp.g.p.m. 5IO 1(|)0 1f|>0 2(I)O 2%0 3(|)0
" L] -5
[m] ' [ft]
Y - 50
— ™S 20
<L \ 0
14 — Jo .
] N \\
~L L2 N
N2 N N
20N N L35
10 22N
EENERN ] ]
N m] [ft] ~30
NN )
8 N ™~ 812
NG 25
N 6120
NPSH 15
6 4 P20
] 10
el 9
EASE
4
0 200 400 600 800 1000 1200 Q [1/min]
c|> 1'0 2'0 3'0 4'0 5'0 slo 7|0 I Q [m3/h]
3
1]
P2 =T | 200/3.0
[kW] T 00/
2 R —— 200/2.2
4// /’/———___ ‘
——— 2‘00/‘2.2‘R
1
0 200 400 600 800 1000 1200 Q [I/min]
80
n N\\
(%] \\\\\
70 \\\ 200/3.0
200/2 ZR\\ ™
‘ Y 200/2.2
60 ‘ ‘ ‘ | | I
0 200 400 600 800 1000 1200 Q [1/min]
Rotation speed = 1400 min™'
Test standard: 1ISO 9906 — Annex A
218

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz
Rev. G
65-250/4 (4.0 kW) MEI >0.5 — impeller diameter = 235 mm
65-250/5.5 (5.5 kW) MEI >0.5 — impeller diameter = 250 mm
0 US.gp.m. 100 150 200 250 300 350 400
| | | | | | | | |
| I I I I [ I I
0 Imp.gpm. 50 100 150 200 250 300 350
25 50
H I ] H
[m] 4 ~70 )
20 \\\250/55
I ~~——
= N - 60
\0/10 N
S~ - 50
15 ~_ C
~N \\
< NPSH |40
\\‘ [m] [ft]
10 AN 5
15 |- 30
4_
/ 311020
5 NPSH = ,
— -5 10
1_
0 0
0 200 400 600 800 1000 1200 1400 Q [I/min]
[ I I I I I I I I I
0 10 20 30 40 50 60 70 80 90 Q [m3/h]
5
P p———— =]250/55+
[kw] — — 250/4.0
3 — ’—” }
— ||
|
2
0 200 400 600 800 1000 1200 1400 Q [I/min]
80
N —
%] 70 — —
(%] 4/ N TS
~d N
60 .5
< 250/5.5
250/4.0
50 ,
0 200 400 600 800 1000 1200 1400 Q [I/min]
Rotation speed = 1400 min”
Test standard: ISO 9906 — Annex A
219

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. G

80-160/1.5 (1.5 kW) MEI >0.6 — impeller diameter = 156 mm
80-160/2.2R (2.2 kW) MEI >0.6 — impeller diameter = 165 mm
80-160/2.2 (2.2 kW) MEI >0.6 — impeller diameter =174 mm

0 USgpm. 100 200 300 400 500 600
| | | | | | |
| I I I I [
108 mp-gpm. 100 200 300 400 500
T+ L 30
H N H
[m] = =1 N T8, [ft]
8 ’*
™ L2 - 25
T T —— 76‘0
T~ N \
6 N - 20
~ N
N\ NC TN
s N N
N AN —15
4 \\ \\
N N\
\\ NPSH [~10
AN [m] [#]
2 160,/2.2R— 4
e ———————1160/2.2 |
-5
1_
0 0
0 500 1000 1500 2000 Q [I/min]
[ I I I I | | I
0 20 40 60 80 100 120 140 Q [m3/h]
3
1
P2 160/2.2 7 |
[kw] L — 160/2.2R
1 160/1.5
|
0 ‘
0 500 1000 1500 2000 Q [I/min]
90
n
g SSN
70 ‘\ \\\ 160/2.2
\\\\ |
160/1.5 N 160/2.2R
50 —

|
0 500 1000 1500 2000 Q [I/min]

Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A

220

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 SERIES 4 Poles

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50Hz
Rev. G
80-200/3 (3.0 kW) MEI >0.4 — impeller diameter = 196 mm
80-200/4R (4.0 kW) MEI >0.4 — impeller diameter =211 mm
80-200/4 (4.0 kW) MEI >0.4 —impeller diameter = 219 mm
0 USgpm. 100 200 300 400 500 600
| | | | | | |
20 (I) Imp.g.p.m. 1[I)0 2(I)0 3(I)O 4(I)0 5(I)0
60
H H
[m] [#t]
15 ____'——N--‘"\~‘ 50
e e A N A
L ~<3%
T \Q\\ — 40
~. 20 N
10 0 ~
\\/{ \\ \ L 30
N NN
S
\\ \\\\'
AN \\' NPSH |20
5 [m] [ft]
4
NPSH |30
274
1
0 0
0 500 1000 1500 2000 Q [I/min]
0 2 4 60 80 100 120 140 Q [m3/h]
4
Py s = 200/4 ]
(W] — 200/4R
2 — — 200/3
| |
1 ]
0 500 1000 1500 2000 Q [I/min]
90
n
(%] . ~_ g
TN 200/4
\\\\\\ l
o 200/3 200/4R
0 500 1000 1500 2000 Q [I/min]
Rotation speed = 1400 min™'
Test standard: 1ISO 9906 — Annex A
221

EBARA PUMPS EUROPE S.p.A.



3 SERIES 4 Poles

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50Hz
Rev. G
80-250/5.5R (5.5 kW) MEI >0.6 — impeller diameter = 230 mm
80-250/5.5 (5.5 kW) MEI >0.6 — impeller diameter = 246 mm
80-250/7.5 (7.5 kW) MEI >0.6 — impeller diameter = 263 mm
0 USgpm. 100 200 300 400 500 600
| ] ] ] ] ] |
(I) Imp.g.p.m. 1(|)0 2(|)0 3(|)0 4(IJO 5(|)0
e e g Y 80
T—
H <250 H
| 2 70
[m] == + 9 [ft]
2 e <l \\‘
e e O P \\250 —60
s
20 T
90 N\ - 50
1 \\{5@ N
N\ N\ AN
\ \\ \ 40
NG N\ AN
10 N\ AN
N 30
™ NPSH
[m] [#t]
341020
5
NPSH L~ 2
5 10
1
0 0
0 500 1000 1500 2000 Q [I/min]
<|) 2'0 4'0 slo 8|0 1(')0 12'0 1)#0 Q [m3/h]
8 T T
Py e —— 250/7.51
[kw) © ——— 250/5.5
4//4”-—"
4 — 25‘0/5.5R
2 ‘
0 500 1000 1500 2000 Q [I/min]
90
n
P 0
\\‘\\ZQ\‘ 250/7.5
250/5.5R |\ |
50 —
0 500 1000 1500 2000 Q [I/min]
Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A
222

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

SECTIONAL VIEW DRAWING 3(.)M4 32, 40, 50, 65-125/160/200

300

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION

50Hz

Rev. G
SECTIONAL VIEW TABLE 3(.)M4 32, 40, 50, 65-125/160/200
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
3M4 3LM4
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 | Shaft with rotor-Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
007 |impeller 32, 40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
65-125/160/200 EN 1.4401 (AISI 316)
011 |Mechanical seal [3] Carbon/Ceramic/NBR \ SiC/SiC/FPM See p. 321+325 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 [Fan PA 1
015 |Fan cover Fe P04 Zinc-coated 1
016 | Terminal - 1
017 | Terminal box cover Aluminium (three phase version) 1
018 |Splash ring NBR ‘ / 40x21.5x3 EBARA DRAWING 1
019 |Bearing - See table p.319 1
020 |Bearing - See table p.319 1
021 |Adjusting ring Steel C70 1
022 |Tie rod Fe 42 Zinc-coated M5 EBARA DRAWING 4
025 | Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 32-160, 40-160, 50-125, 65-160 NBR [4] EPM 183.52x5.34 OR 6720 1
32-200, 40-200,50-160,
50-200, 65-160. 65-200 227.96x5.34 OR 6895
032 |Key EN 1.4401 (AISI 316) 6Xx6x25 UNI 6604 1
034 |Impelier nut -Other models EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
50-200/2.2 M18x1.5
042 |Foot Aluminium / Zinc-coated steel EBARA DRAWING 1
056 |Box gasket NBR 1
058 |Fasting nut - 1
072 |Casing ring (not for 65 version) [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
. Up to 1.5kW 25x40x7 DIN 3760
092|Lipseal 2 2kW to 3kW ) ) 30x47X7 without spring !
For 0.25kW 15x30x5
093 |Lip seal For 0.37kW and 0.55kW - - 17x32X7 Witlﬂlo’\ll.lt?);?:i)ng 1
From 0.75 kW to 3kW 25x40x7
32-125, 40-125 M 8x30 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class ISO 3506/1 UNI 5739
50-200, 65-125, 65-160, 65-200 M 10x35 2
32-125, 40-125 8.4x17 8
235 |Washer 40-160, 40-200, 50-125, 50-160, EN 1.4301 (AISI 304) 10.5x21 UNI 6592 2]

50-200, 65-125, 65-160, 65-200

Counterflange kit on request, see table p. 328-329

[1] For version 32-200, 40-200, 50-160 , 50-200

[2] Quantity = 10 for 32-160, 40-160, 50-125, 65-125
Quantity = 12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[3] Special version: see page 321 and following

[4] FPM (H-HS-HW-HSW version)
EPDM (E version)

301

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION

50Hz

Rev. G

SECTIONAL VIEW DRAWING 3LM4 80-160

75 24 77

6 12 13 14 15

W

1 7 34 32 11 4 26 3 56 16 17

42 22 20 21 93

92 19 201

200A

235 200

9

25 76 78

302

Iy
5

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. G
SECTIONAL VIEW TABLE 3LM4 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor EN 1.4404(AISI 316L) -Part in contact with liquid 1
007 [Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal [1] SiC/SiC/FPM See p. 321+325 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 [Fan PA 1
015 |Fan cover Fe P04 Zinc-coated 1
016 |Terminal - 1
017 |Terminal box cover Aluminium 1
019 |Bearing - See table p. 319 1
020 |Bearing - See table p. 319 1
021 |Adjusting ring Steel C70 1
022 |Tie rod Fe 42 Zinc-coated 4
024 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
026 |"O"ring FPM 227.96x5.34 OR 6895 1
032 |Key EN 1.4404 (AISI 316L) 6x6x25 UNI 6604 1
034 [Impeller nut EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING 1
056 |Box gasket NBR 1
058 |Fasting nut - 1
075 |Washer (plug) 1
EN 1.4404 (AISI 316L
076 |Washer (plug) 04 (AISI 316L) 1
077 |O-ring (plug) 1
FPM [2
078 |O-ring (plug) [2] 1
) 1.5 kW 25x40x7
092 Llp seal W - 30x47x7 DlN 3760 1
- without spring
093 |Lip seal - 25x40x7 1
200 |[Screw . M 10x35 10
200A [Screw Stainless steel A2-70 class ISO 3506/1 M 10x30 UNI 5739 5
1.5 kW ) M 6x40 1

201 |Screw 22w Stainless steel A2-70 class ISO 3506/1 M 12x40 UNI 5739 7
235 |Washer EN 1.4301 (AISI 304) 10.5 UNI 6592 12

Counterflange kit on request, see p. 328-329

[1] Special version: see page 321 and following

[2] EPDM (E version)

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 SERIES 4 Poles

CENTRIFUGAL PUMPS

50Hz

CONSTRUCTION

SECTIONAL VIEW DRAWING 3LM4 65-250, 80-200/250

LL ¥T SL

304

€6 1 0C 0CC ¢y 10C 10l ¢C 61 C6 00CGEC Bl vWC 8L 9L GC CC L V¢

SL ¥1 € ¢ 9

8

]

LL 9L 96 ¢ VW 9C ¥ L |

EBARA PUMPS EUROPE S.p.A.

_—J=-TETY



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. G
SECTIONAL VIEW TABLE 3LM4 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS STANDARD | Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4401 (AISI 316) 1
004A Screw for casing cover EN 1.4301 (AISI 304) 2
006 |Shaft with rotor EN 1.4404(AISI 316L) -Part in contact with liquid 1
007 [Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal [2] SiC/SiC/FPM See p. 321+325 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014|Fan PA 1
015|Fan cover Fe P04 Zinc-coated 1
016 | Terminal - 1
017 | Terminal box cover Aluminium 1
018|Splash ring NBR 50x29.5x3 EPE DRAWING| 1
019|Bearing - See table p. 319 1
020|Bearing - See table p. 319 1
021 |Adjusting ring Steel C70 1
022|Tie rod Fe 42 Zinc-coated 4
024 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING| 1
025|Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING| 1
026]"0" ring FPM 227.96x5.34 OR 6895 1
032|Key EN 1.4404 (AISI 316L) 8x7x30 UNI 6604 1
034 |Impeller nut Aluminium M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING | 1
056 |Box gasket NBR 1
058 |Fasting nut - 1
075|Washer (plug) 1
076 Washer (plug) EN 1.4404 (AISI 316L) 1
077]0O-ring (plug) 1
078]0O-ring (plug) FPM - [3] 1
. 3-4kW 30x47x7 DIN 3760
092Lip seal 5.5 kW . 40x55x7 without spring 1
3 kW 25x40x7
093 |Lip seal 4 kW - 30x47x7 witlalor\tljtszs:i)ng 1
5.5 kW 40x55x7
101|Snap ring (only 5.5 kW) Carbon tool steels TC 80 40 UNI 7435 1
200|Screw Stainless steel A2-70 class 1ISO 3506/1 M 12x45 UNI 5739 10
for 80-200/4 kW M 6x12
201|Screw for 80-200/3 kW Stainless steel A2-70 class 1ISO 3506/1 M 6x45 UNI 5739 1
for the other versions M 6x60
220 |Nut for tie rod (only 5.5 kW) Zincked steel M8 4
235|Washer EN 1.4301(AISI 304) 13 UNI 8842 10
244|Pin [1] EN 1.4301(AISI 304) 4x12 1
Counterflange kit on request, see table p. 328-329
[1] Not for H, HW, HSW and E options
[2] Special version: see page 321 and following
[3] EPDM (E version)
305

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

SECTIONAL VIEW DRAWING 3(.)S4 32, 40, 50, 65-125/160/200

[ Tl H
1 | |-
= | I
ﬁ:f\___ | I | — <+
;m — :J il
L
]\ Semi MRS
i H—1 a I
& ——gm | l [ o
: Neq I Hefldr— .
N =SiRNIE i
_ 58 = = sl
j ;L!I- T
K p J.‘

—

/|

i\

]

“—|

306

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION

50Hz

Rev. G
SECTIONAL VIEW TABLE 3(.)S4 32, 40, 50, 65-125/160/200
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
354 3LS4
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) See table p. 326 1
007 |impeller 32, 40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
65-125/160/200 EN 1.4401 (AISI 316)
011 |Mechanical seal [4] Carbon/Ceramic/NBR \ SiC/SiC/FPM See p. 321+325 1
012 |Motor - 1
025 | Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
25:122' 40-160, 50-125, 183.52x5.34 OR 6720
026 |"O" ring NBR [5] FPM 1
32-200, 40-200, 50-160,
50-200, 65-160, 65-200 227.96x5.34 OR 6895
032 |Key EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
034 [impelier nut - Other model EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
50-200/2.2 M18x1.5
042 |Foot Zinc-coated steel [1]
044 | Protection EN 1.4301 (AISI 304) EBARA DRAWING 2
072 |Casing ring (not for 65 version) [2] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
32-125, 40-125 M 8x30 UNI 5739 8
40-160, 40-200, 50-125,
200 |Screw 50-160, Stainless steel A2 70 class ISO 3506/1
50-200, 65-125, 65-160, M 10x35 UNI'5739 Bl
65-200
up to 0.37kW M 8x20
206 | Screw from 0.55 to 1.5kW Zn. Steel 8.8 strenght class ISO 898/1 M 10x25 UNI 5739 4
for 2.2 and 3kW M 12x30

Counterflange kit on request see p. 328-329

[1] Quantity =1 up to 1.5kW
Quantity = 2 for 2.2 and 3kW
[2] Only for version 32-200, 40-200, 50-160, 50-200
[3] Quantity = 10 for 32-160, 40-160, 50-125, 65-125
Quantity = 12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[4] Special version: see page 321 and following
[5] FPM (H-HS-HW-HSW version)
EPDM (E version)

307

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



50Hz
Rev. G

3 SERIES 4 Poles

SECTIONAL VIEW DRAWING 3LS4 80-160

CENTRIFUGAL PUMPS
CONSTRUCTION

v00¢
¢l A 4 9 00¢ S¢¢ 8/ 9. G¢C
i # _lﬂﬂmHQE
=
B Mﬂ A_I._n
= i LN :
L I 1@77 "r
1 I mm@mm
\\\\\\\\\\\\\\\\\\\\\\\\\\\ s L
G S el -f
— 03000 ﬁwv,_--

LL ¥C GL

308

EBARA PUMPS EUROPE S.p.A.

_—J=-TETY



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. G
SECTIONAL VIEW TABLE 3LS4 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
001 |Casing EN 1.4401 (AISI 316) 1
003 [Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Coupling EN 1.4404 (AISI 316L) See table p. 326 1
007 [Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal [1 SiC/SiC/FPM See p. 321+325 1
012 |Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
nAw FPM
026 |"O"ring EPDM (E option) 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
042 |Foot Zinc-coated steel EPE DRAWING 1
044 |Protection EN 1.4301 (AISI 304) EPE DRAWING 2
075 |Washer (plug) 1
EN 1.4404 (AISI 316L
076 |Washer (plug) 04 (AISI 316L) 1
077 |O-ring (plug) 1
FPM [2

078 |O-ring (plug) [2] 1
200 |Screw Stainless steel A2-70 M 10x35 UNI 5739 10
200A |Screw class 1ISO 3506/1 M 10x30 2
235 |Washer EN 1.4301 (AISI 304) 10.5 UNI 6592 12

Counterflange kit on request, see table p. 328-329

[1] Special version: see page 321 and following

[2] EPDM (E version)

309

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

SECTIONAL VIEW DRAWING 3L S4 65-250, 80-200/250

75 24 77

3A

3

244

26 4A 1N

|
/

\

25 76 78 235 200

|
i

34

310

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. G
SECTIONAL VIEW TABLE 3LS4 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS STANDARD | Q.TY
001 [Casing EN 1.4401 (AISI 316) 1
003 [Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A|Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4401 (AISI 316) 1
004A|Screw for casing cover EN 1.4301(AISI 304) 2
006 |Coupling EN 1.4404 (AISI 316L) See table p. 326 1
007 {Impeller EN 1.4401 (AISI 316) 1
011 [Mechanical seal [3] SiC/SiC/FPM See p. 321+325 1
012 |Motor - 1
024 [Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING| 1
025 [Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING| 1
nEyn FPM
026 |"O" ring EPDM (E version) 253.36x5.34 OR 6995 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
034 L’L‘tpe"er EN 1.4404 (AIS| 316L) M20x1.5 UNI 7474 1
042 |Foot for motor Zincked steel EPE DRAWING 1
075 |Washer (plug)
EN 1.4404 (AISI 316L 1
076 |Washer (plug) 04 (AISI 316L)
077 |O-ring (plug) 1
FPM [4
078 [O-ring (plug) (41 1
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301(AISI 304) 13 UNI 8842 10
244 |Pin [2] EN 1.4301(AISI 304) 4x12 1
Counterflange kit on request, see table p. 328-329
[1] Only for 65-250/5.5 kW
[2] Not for H, HW, HSW and E options
[3] Special version: see page 321 and following
[4] EPDM (E version)
311

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

SECTIONAL VIEW DRAWING 3(.)P4 32, 40, 50, 65-125/160/200

o
8
\8
. ——3
)
o
3 .
\< /GD
]
:\\
—
&
©
8
8 .
N ,/8
/
"
i /_/-

312

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION

50Hz

Rev. G
SECTIONAL VIEW TABLE 3(.)P4 32, 40, 50, 65-125/160/200
MATERIAL
N° PART NAME DIMENSIONS | STANDARD | Q.TY
3P4 | 3LP4
001 |Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
003 | Support Cast iron EN-GJL-200-EN 1561 1
004 | Casing cover EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
006 | Shaft - Part in contact with liquid EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
026 Flexible coupling Cast iron EN-GJL-250-EN 1561 See tgg’; pag. 1
007 | imoeller 32-40-50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
P 65-125/160/200 EN 1.4401 (AISI 316)

011 |Mechanical seal [3] Carbon/Ceramic/NBR | SiC/SiC/FPM See p. 321+325 1
012 |Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1

32-125, 40-125 158.11x5.34 OR 6625
026 0" ring 2;;38 ;lglgg gglgg 65-125 NBR [4] EPM 183.52x5.34 OR 6720 1

50-200. 65-160, 65-200 227.96x5.34 OR 6895
032 |Key EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
033 |Key Cc40 8x7x40 UNI 6604 1

[Other model M16x1.5
034 |Impeller nut ‘50_200/2-2 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1 5 UNI 7474 1

] EBARA
042 |Pump support Zinc-coated steel DRAWING 1
0:2 Base Zinc-coated steel 1
044 | Protection Zinc-coated steel 1
050 | Foot Zinc-coated steel 1
058 |Fasting nut - 1
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
072 |Casing ring (not for 65 version) [1] EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
. 32-125, 32-160, 40-125, 50-125 @30

089 |Snap ring Other model Carbon tool steel TC 80 240 UNI 7435 1
092|"V" ring - VS - 0030 1
093 |"V" ring - VS - 0030 1

32-125, 40-125 M 8x30 UNI 5739 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class 1ISO 3506/1

50-200, 65-125, 65-160, 65-200 M 10x35 UNI5739 2l

Counterflange kit on request see p. 328-329

[1] For version: 32-200, 40-200, 50-160, 50-200
[2] Quantity = 10 for 32-160, 40-160, 50-125, 65-125

Quantity = 12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[3] Special version: see page 321 and following

[4] FPM (H-HS-HW-HSW version)
EPDM (E version)

313

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

75 24 77

Rev. G

SECTIONAL VIEW DRAWING 3LP4 80-160

42

3 6 20 67 93

"
200
200A

66 92 89 19

235

NNNNNN

314

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

SECTIONAL VIEW DRAWING 3LP4 65-250, 80-200/250

42

6 20 67 93

1 244 3

92 66 89 19
200

235

mmmmmmm

315

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

SECTIONAL VIEW DRAWING 3LP4 65-250, 80-200/250

d ] H
T oA
© f@ I
A L i

S N
| q )
3

\J ‘
ST

IV

)

316

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

SECTIONAL VIEW TABLE 3LP4 80-160

N° PART NAME MATERIAL DIMENSIONS STANDARD | Q.TY
001 |Casing EN 1.4401 (AISI316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI316L) 1
006 [Shatt EN 1.4404 (AISI316L)-Part in contact with liquid 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 327 1
007 |Impeller EN 1.4401 (AISI316) 1
011 |Mechanical seal [2] SiC/SiC/FPM See p. 321+325 1
012 |Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
024 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING| 1
025 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING| 1
"y FPM
026 |"O"ring EPDM (E option) 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 6Xx6x25 1
UNI 6604
033 |Key C 40 8x7x40 1
034 |Impeller nut EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
042 |Pump support Zincked steel EPE DRAWING| 1
042A |Base Zincked steel EPE DRAWING| 1
044 |Protection Zincked steel EPE DRAWING| 1
050 |Foot Zincked steel EPE DRAWING| 2
050C | Spacer for protection [1] Aluminium 2
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) 1
EN 1.4404 (AISI 316L
076 |Washer (plug) 04 (AISI 316L) 1
077 |O-ring (plug) 1
078 |O-ring (plug) FPM 3] 1
089 |Snap ring Carbon tool steels TC 80 @40 UNI 7435 1
092 |"V"ring 1
- VS-0030
093 |"V"ring 1
200 fScrew Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 10
200A |Screw M 10x30 2
235 |Washer EN 1.4301 (AISI 304) 10.5 UNI 6592 12

Counterflange kit on request see p 328-329

[1] Only for 1.5kW

[2] Special version: see page 321 and following
[3] EPDM (E version)

See p 314-316

317

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. G
SECTIONAL VIEW TABLE 3LP4 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS | STANDARD| Q.TY
001 [Casing EN 1.4401 (AISI316) 1
003 [Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4401 (AISI316) 1
004A [Screw for casing cover EN 1.4301 (AISI 304) 2
006 |Shaft EN 1.4462 (Duplex stainless steel)-Part in 1
contact with liquid
006A [Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 327 1
007 |Impeller EN 1.4401 (AISI316) 1
011 |Mechanical seal [3] SiC/SiC/FPM See p. 321+325 1
012 |Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
024 |Plug EN 1.4404 (AISI316L) G3/8 1
025 |Plug EN 1.4404 (AISI316L) G3/8 1
nAy i FPM
026 |"O"ring EPDM (E version) 253.36x5.34 OR 6995 1
032 [Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
033 [Key C 40 10x8x60 UNI 6604 1
034 L"er”er EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 | 1
042 |Pump support Zincked steel 1
042A |Base Zincked steel 1
044 |Protection Zincked steel 1
050C [Spacer for protection [1] Aluminium 2
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) 1
EN 1.4404 (AISI 316L
076 |Washer (plug) 04 (AISI 316L) 1
077 |O-ring (plug) 1
FPM [4
078 |O-ring (plug) 41 1
089 |Snap ring Carbon tool steels TC 80 50 UNI 7435 1
092 |"V"ring 1
! - VS-0040

093 |"V" ring 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 12x45 UNI 5739 10
235 [Washer EN 1.4301 (AISI 304) 13 UNI 8842 10
244 |Pin [2] EN 1.4301 (AISI 304) 4x12 UNI 6873 1

Counterflange kit on request see p 328-329

[1] Only for 65-250/3-4 kW

[2] Not for H, HW, HSW and E options

[3] Special version: see page 321 and following

[4] EPDM (E version)

See p.315-316

318

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. G
BEARINGS 3(.)M4, 3(.)S4
Ball bearing Ball bearing
Pump t Pump t
o ype Pump side Fan side o ype Pump side Fan side
3(.)M4 32-125/0.25 6202-2RSH 3(.)S4 32-125/0.25
3(.)M4 32-160/0.37R 3(.)S4 32-160/0.37R 6203-2Z 6203-2Z
3(.)M4 32-160/0.37 6205-2RSH C3 6203-2RSH 3(.)S4 32-160/0.37
3(.)M4 32-200/0.55R 3(.)S4 32-200/0.55R
3(.)M4 32-200/0.55 3(.)S4 32-200/0.55 6204-2Z C3 6204-2Z C3
3(.)M4  32-200/0.75 6205-2RSH C3 3(.)S4 32-200/0.75
3(.)M4 40-125/0.37R 6202-2RSH 3(.)S4 40-125/0.37R 6203-27 6203-27
3(.)M4 40-125/0.37 3(.)S4 40-125/0.37
3(.)M4 40-160/0.55R 3(.)S4 40-160/0.55R
6203-2RSH 6204-2Z C3 6204-2Z C3
3(.)M4 40-160/0.55 6205-2RSH C3 3(.)S4 40-160/0.55
3(.)M4  40-200/1.1R 3(.)S4 40-200/1.1R
3(.)M4 40-200/1.1 6205-2RSH C3 3(.)S4 40-200/1.1 6205-2Z C3 6205-2Z C3
3(.)M4  40-200/1.5 3(.)S4 40-200/1.5
3(.)M4 50-125/0.55R 6203-2RSH 3(.)S4 50-125/0.55R 6204-27 C3 6204-27 C3
3(.)M4 50-125/0.55 3(.)S4 50-125/0.55
3(.)M4 50-160/1.1R 3(.)S4 50-160/1.1R
3(.)M4 50-160/1.1 6205-2RSH C3 3(.)S4 50-160/1.1 6205.27 C3 6205.27 C3
3(.)M4 50-200/1.5R 6205-2RSH C3 3(.)S4 50-200/1.5R
3(.)M4 50-200/1.5 3(.)S4 50-200/1.5
3(.)M4 50-200/2.2 3(.)S4 50-200/2.2 6206-2Z C3 6206-2Z C3
3(.)M4 65-125/0.55 6203-2RSH 3(.)S4 65-125/0.55 6204-27 C3 6204-27 C3
3(.)M4 65-125/0.75 3(.)S4 65-125/0.75
3(.)M4 65-125/1.1 6205-2RSH C3 3(.)S4 65-125/1.1
3(.)M4 65-160/1.1 3(.)S4 65-160/1.1 6205-2Z C3 6205-2Z C3
3(.)M4 65-160/1.5 6205-2RSH C3 3(.)S4 65-160/1.5
3(.)M4 65-160/2.2 3(.)S4 65-160/2.2
3(.)M4 65-200/2.2R 3606-2RS1 C3 3(.)S4 65-200/2.2R 6206-27 C3 6206-27 C3
3(.)M4 65-200/2.2 3(.)S4 65-200/2.2
3(.)M4 65-200/3.0 3(.)S4 65-200/3.0
3LM4  65-250/4 6306-2RS1 C3 | 6206-2RS1 C3 3LS4 65-250/4 6306-2Z C3 6306-2Z C3
3LM4  65-250/5.5 6308-2RS1 C3 | 6208-2RS1 C3 3LS4 65-250/5.5 6208-2Z C3 6208-2Z C3
3LM4  80-160/1.5 6205-2RS1 C3 3LS4 80-160/1.5 6205-2Z C3 6205-2Z C3
3LM4 80-160/2.2R 6205-2RS1 C3 3LS4 80-160/2.2R
3LM4 80-160/2.2 6206-2RS1 C3 3LS4 80-160/2.2 6206-2Z C3 6206-2Z C3
3LM4  80-200/ 3 3LS4 80-200/3
3LM4  80-200/4R 3LS4 80-200/4R
-2RS1 206-2RS1 -2Z -2Z
3LM4  80-200/4 6306-2RS1C3 | 6206-2RS1C3 3LS4 80-200/4 6306-22 C3 6306-22 C3
3LM4  80-250/5.5R 3LS4 80-250/5.5R
6308-2RS1 C3 | 6208-2RS1 C3
3LM4  80-250/5.5 3LS4 80-250/5.5 6208-2Z C3 6208-2Z C3
3LS4 80-250/7.5
319

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. G
BEARINGS 3(.)P4
Ball bearing
Pump type Pump Motor
Pump side Motor side Pump side Fan side
3(.)P4 32-125/0.25
3(.)P4 32-160/0.37R |6306-2RS1 C3|6206-2RS1 C3| 6203-2Z 6203-27
3(.)P4 32-160/0.37
3(.)P4 32-200/0.55R
3(.)P4 32-200/0.55 |6308-2RS1 C3|6306-2RS1 C3| 6204-2Z C3 | 6204-2Z C3
3(.)P4 32-200/0.75
e
3(')P4 40'160/0'55R 6306-2RS1 C3| 6206-2RS1 C3
: - : 6204-27 C3 | 6204-2Z C3
3(.)P4 40-160/0.55
3(.)P4 40-200/1.1R
3(.)P4 40-200/1.1 6308-2RS1 C3| 6306-2RS1 C3 | 6205-2Z C3 | 6205-2Z C3
3(.)P4 40-200/1.5
3(.)P4 50-1250.55R | 6406 ors1 03| 6206-2RS1 €3 | 6204-22 C3 | 6204-27 <3
3(.)P4 50-125/0.55
3(.)P4 50-160/1.1R
3(.)P4 50-160/1.1
6205-2Z C3 | 6205-2Z C3
3(.)P4 50-200/1.5R  |6308-2RS1 C3|6306-2RS1 C3
3(.)P4 50-200/1.5
3(.)P4 50-200/2.2 6206-2Z C3 | 6206-2Z C3
3(.)P4 65-125/0.55
6204-27 C3 | 6204-2Z C3
3(.)P4 65-125/0.75 |6306-2RS1 C3|6206-2RS1 C3
3(.)P4 65-125/1.1
3(.)P4 65-160/1.1 6205-2Z C3 | 6205-2Z C3
3(.)P4 65-160/1.5
282 2:‘;322; 6308-2RS1 C3| 6306-2RS1 C3
: - . 6206-2Z C3 | 6206-2Z C3
3(.)P4 65-200/2.2
3(.)P4 65-200/3
3LP4 65-250/4 6306-2Z C3 | 6306-2Z C3
3LP4 65-250/5.5 6310-2RS1 C3| 6308-2RS1 O3 150827 ©3 | 6208-27 C3
3LP4 80-160/1.5 6205-2Z C3 | 6205-2Z C3
3LP4 80-160/2.2R  |6308-2RS1 C3|6308-2RS1 C3
3LP4 80-160/2.2 6206-2Z C3 | 6206-2Z C3
3LP4 80-200/3
th’ gg-iggﬁR 6306-2Z C3 | 6306-2Z C3
3LPi 802505 R | 6310-2RS1 C3(6308-2RS1 C3
3LP4 80-250/5.5 6208-2Z C3 | 6208-2Z C3
3LP4 80-250/7.5
320

_—J=-TET

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

MECHANICAL SEAL (standard, H and E version)

L1 L2

&\
] \ \
A
™ 4 3 2 1 3
§ o~ L - - - - - - - % %
g L/ S| s
Dimensions Material
Version Pump type ! 2 3 4
PP d1 | d2|d3|d4|d5| L | L1| L2 |Stwtionary| Rotery | o | Frame
sealring | sealring + spring
32-125/160/200
40-125/160/200 . EN 1.4401
Standard 50-125/160/200 2| 19| 38 | 31| 37 |37.5/275| 10 | Carbon | Ceramic NBR (AISI 316)
65-125/160/200
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31 | 37 |37.5|275| 10 EN 1.4401
H 65-125/160/200 Carbon | Ceramic FPM (AISI.316)
80-160
65-250
80-200/250 30| 24 | 46 | 39 | 45 |425/325] 10
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31| 37 |37.5/275| 10 EN1.4401
E 65-125/160/200 Carbon SiC EPDM (AISI. 316)
80-160
65-250
80-200/250 30| 24 | 46 | 39 | 45 |425/325] 10
321

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. G
MECHANICAL SEAL (L version g22)
4 3 1 2 3
L
YO M@
C
) .
- g
U .
37.5
Material
Pump type Stati:)nary Rofary ° Fra4me
seal ring | sealring Rubber + spring
32-125/160/200
40-125/160/200
50-125/160/200 SiC SiC FPM (ill\lSr;567'l'1i)
65-125/160/200
80-160
322

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. G
MECHANICAL SEAL (L version g30)
L
L1 L2
— 2 Eﬁlp
=TT
) = % 43 2 1 3 L a
| |
o o d NZ =yl
-
: \
Dimensions Material
P t 1 2 3 4
um e
s d1 dz2 d3 d4 d5 L L1 L2 Stationary Rotary Rubber Frame
seal ring seal ring + spring
65-250 . . EN 1.4571
80-200/250 30 24 44 39 45 | 425 | 31 11.5 SiC SiC FPM (AISI 316Ti)
323

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



3 SERIES 4 Poles

CENTRIFUGAL PUMPS
CONSTRUCTION 50Hz
Rev. G
MECHANICAL SEAL (HS version)
5 4 1 2 3
A
A
A
N — ™~
QN _ i 0 o
S
!
!
!
- 28.5 9
B 37.5 a
Material
1 2 3 4
Pump type
Stationary Rotary Rubber Frame
seal ring seal ring + spring
32-125/160/200
5012811601200 sc | ose | RN e
65-125/160/200
324

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION

50Hz

MECHANICAL SEAL (HW and HSW version)

L
L1 L2
| Q NN, |
- |
™ | |
o
g | |
- 4 3 2 1 3 ‘ o
ASY %‘ - . - _g AS
S 7 | S
Dimensions Material
Version Pump type 1 2 3 4
1 2 i
d d d3 d4 d5 L L1 L2 Stat|or.1ary Rota.ry Rubber Frame
seal ring seal ring + spring
32-125/160/200
40-125/160/200
50-125/160/200 22 19 38 31 37 | 375|275| 10 EN 1.4401
HW 65-125/160/200 Carbon Carbon FPM (AISI' 316)
80-160
65-250
80-200/250 30 24 46 39 45 | 425|325 | 10
32-125/160/200
40-125/160/200
50-125/160/200 22 19 38 31 37 | 375|275| 10 EN 1.4401
HSW 65-125/160/200 Carbon SiC FPM (AISI- 316)
80-160
65-250
80-200/250 30 24 46 39 45 | 425|325 | 10

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

COUPLING 3(.)S4
L
0 Set screw UNI EN ISO 4029
\
_ o © } I| m ﬁj
; | L1
< = ——treE=—— e ——— Sk
Motor Dimensions mm
Pump type WI 1 HPL | gie d d1 d2 | d3 M L L1 b h Set screw

32-125/0.25 0.25 0.33 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
32-160/0.37R 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
32-160/0.37 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
32-200/0.55R 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-200/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-200/0.75 0.75 1 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-125/0.37R 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
40-125/0.37 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
40-160/0.55R 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-160/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-200/1.1R 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-200/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-200/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/0.55R 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
50-125/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
50-160/1.1R 1.1 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-160/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/1.5R 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/2.2 2.2 3 100 22 22 28 43 M18x1.5 153 63 8 31.3 M8x8
65-125/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
65-125/0.75 0.75 1 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
65-125/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-200/2.2R 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-200/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-200/3 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-250/4 4 55 112 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
65-250/5.5 5.5 7.5 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8
80-160/1.5 15 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
80-160/2.2R 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
80-160/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
80-200/3 3 4 100 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
80-200/4R 4 55 112 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
80-200/4 4 5.5 112 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
80-250/5.5R 55 7.5 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8
80-250/5.5 5.5 7.5 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8
80-250/7.5 7.5 10 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8

326

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

FLEXIBLE COUPLING 3(.)P4

b1 3 &

J_Dm

)

£
\CL J
— [/ &

d2
h2

d1

W
~
/_l

(0

—

<

©

PUMP SIDE PUMP SDE  MOTOR SIDE MOTOR SIDE
Motor Dimensions mm

Pump type (kW[ HPT | e d1 b1 h1 d2 b2 h2
32-125/0.25 025 | 033 71 24 8 273 14 5 16.3
32-160/0.37R 0.37 05 71 24 8 273 14 5 16.3
32-160/0.37 037 05 71 24 8 273 14 5 16.3
32-200/0.55R 055 | 075 80 24 8 273 19 6 2138
32-200/0.55 055 | 075 80 24 8 273 19 6 218
32-200/0.75 075 1 80 24 8 273 19 6 218
40-125/0.37R 037 05 71 24 8 273 14 5 16.3
40-125/0.37 037 05 71 24 8 273 14 5 16.3
40-160/0.55R 055 | 075 80 24 8 273 19 6 218
40-160/0.55 055 | 075 80 24 8 273 19 6 218
40-200/1.1R 1.1 15 90 24 8 273 24 8 273
40-200/1.1 11 15 90 24 8 273 24 8 273
40-200/1.5 15 2 ) 24 8 273 24 8 273
50-125/0.55R 055 | 075 80 24 8 273 19 6 218
50-125/0.55 055 | 075 80 24 8 273 19 6 218
50-160/1.1R 1.1 15 90 24 8 273 24 8 273
50-160/1.1 1.1 15 90 24 8 273 24 8 273
50-200/1.5R 15 2 90 24 8 273 24 8 273
50-200/1.5 15 2 ) 24 8 273 24 8 273
50-200/2.2 22 3 100 24 8 273 28 8 313
65-125/0.55 055 | 075 80 24 8 273 19 6 218
65-125/0.75 075 1 80 24 8 273 19 6 218
65-125/1.1 11 15 90 24 8 273 24 8 273
65-160/1.1 11 15 90 24 8 273 24 8 273
65-160/1.5 15 2 ) 24 8 273 24 8 273
65-160/2.2 22 3 100 24 8 273 28 8 313
65-200/2.2R 22 3 100 24 8 273 28 8 313
65-200/2.2 22 3 100 24 8 273 28 8 313
65-200/3 3 4 100 24 8 273 28 8 313
65-250/4 4 55 112 32 10 353 28 8 313
65-250/5.5 55 75 132 32 10 353 38 10 413
80-160/1.5 15 2 ) 24 8 273 24 8 273
80-160/2.2R 22 3 100 24 8 273 28 8 313
80-160/2.2 22 3 100 24 8 273 28 8 313
80-200/3 3 4 100 32 10 353 28 8 313
80-200/4R 4 55 112 32 10 353 28 8 313
80-200/4 4 55 112 32 10 353 28 8 313
80-250/5.5R 55 75 132 32 10 353 38 10 413
80-250/5.5 55 75 132 32 10 353 38 10 413
80-250/7.5 75 10 132 32 10 353 38 10 413

327

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

FITTINGS

COUNTERFLANGE ZINCKED STEEL

F
E
| — |
4o NGJIER
= I BN A M } | |
i v
L
SN N° Holes 218
Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL
32| G11/4| 100 | 100 15 11.5 67 50 4
40 | G11/2| 110 | 110 | 175 | 115 72 58 4 V1655
50 | G2 125 | 125 | 19 15 89 70 4 X Zn. Steel 8.8
strenght class
65 | G21/2| 145 | 185 23 14 104 88 4 1SO 898-1
80 G3 160 200 24 16 117.5 100 8 M16x60
100 | G4 180 | 220 29 16 144 | 125 8

COUNTERFLANGE EN 1.4404 (AISI 316L)

SN N° Holes 218

-l - L)

E
D
|
T

] M
O

L d

F

Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL
32 | G11/4| 100 140 29.5 14 66 44
40 | G11/2| 110 150 29.5 14 71 50.5
4 M16x55 A2-70 class

50 G2 125 165 34 16 83 63 1SO 3506-1
65 | G21/2| 145 185 40 16 103 80
80 G3 160 200 42 18 122 92 8 M16x60

328

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. G

COUNTERFLANGE EN 1.4404 (AlISI 316L) DN100

‘ E
. D
SN _N* Holes 218 ‘
|
N |
= | S |
r UL | ‘
T
J L |
F
Counterflange Screw
DN D E F H H1 L SN DIMENSIONS MATERIAL
A2-70 class
1 4 1 22 2 1 M16x7
00 G 80 0 35 0 50 8 6x70 1SO 35061
GASKET
DN M M1
32 38 82
40 50 93
50 60 107
65 80 125
80 90 140
100 115 160

Thickness 2

Material : EPDM for standard version
FPM for L version

329

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

DIMENSIONS AND WEIGHT 50Hz

Rev. G
PUMP 3(.)M4 32, 40, 50, 65-125/160/200
B
D2
P2
DN2 A
& 7-#18
7-918
_ 7 gg = ‘3\:‘
e [
s &l 8 1 { —/ \ =
o © '@\ngs =
Fig. 1 | LD
R c 7l 4-915
W i} N1
St M 3z N2 ‘
4-¢18
Fig. @ \
Dimensions (mm) Weight
Punptype | @ | @ | @ | @ z o | o | 2| @ kgfl
DN1| P1 K1 D1 | S1| [1]1][2]| DN2| P2 K2 | D2 |S2|Fig.| H H1 H2 H3 R | W M N1 N2 A B C V2

32-125/0.25 50 | 95 | 125 | 165 | 16
32-160/0.37R | 50 | 95 | 125 | 165 | 16
32-160/0.37 50 | 95 | 125 | 165 | 16
32-200/0.55R | 50 | 95 | 125 | 165 | 16
32-200/0.55 50 | 95 | 125 | 165 | 16
32-200/0.75 50 | 95 | 125 ] 165 | 16

- 32 | 75 | 100 | 140 | 14
- 32 | 75 | 100 | 140 | 14
- 32 | 75 | 100 | 140 | 14
- 32 | 75 | 100 | 140 | 14
- 32 | 75 | 100 | 140 | 14
- 32 | 75 | 100 | 140 | 14

252 | 112 | 140 | 102 | 80 | 70 | 114 | 140 | 190 | 213 | 371 205 PG 11 15
292 | 132 | 160 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 393 219 PG 11 19.7
292 | 132 | 160 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 393 219 PG 11 19.9
340 | 160 | 180 | 119 | 80 | 70 | 119 | 190 | 240 | 296 | 393 219 PG 11 245
340 | 160 | 180 | 119 | 80 | 70 | 119 | 190 | 240 | 296 | 393 219 PG 11 245
340 | 160 | 180 | 124 | 80 | 70 | 119 | 190 | 240 | 296 | 432 | 244+255 | PG13.5| 281

40-125/0.37R | 65 | 115|145 185 | 16 - | 40 | 80 | 110 | 150 | 14 252 | 112 | 140 | 102 | 80 | 70 | 114 | 160 | 210 | 213 | 371 205 PG 11 15.6
40-125/0.37 65 | 115 | 145 | 185 | 16 - | 40 | 80 | 110 | 150 | 14 252 | 112 | 140 | 102 | 80 | 70 | 114 | 160 | 210 | 213 | 371 205 PG 11 15.7
40-160/0.55R | 65 | 115 | 145 ] 185 | 16 - | 40 | 80 | 110 | 150 | 14 292 | 132 | 160 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 393 219 PG 11 20.2
40-160/0.55 65 | 115 | 145 | 185 | 16 - | 40 | 80 | 110 | 150 | 14 292 | 132 | 160 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 393 219 PG 11 206
40-200/1.1R 65 | 115 | 145 | 185 | 16 - | 40 | 80 | 110 | 150 | 14 340 | 160 | 180 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 452 | 244+255 | PG 13.5| 285
40-200/1.1 65 | 115 | 145] 185 | 16 - | 40 | 80 | 110 | 150 | 14 340 | 160 | 180 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 452 | 244+255 | PG13.5| 286
40-200/1.5 65 | 115 | 145 ] 185 | 16 - | 40 | 80 | 110 | 150 | 14 340 | 160 | 180 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 491 | 244+255 | PG13.5| 30.3
50-125/0.55R | 65 | 115 | 145 | 185 | 16 - 50 | 95 | 125 | 165 | 16 292 | 132 | 160 | 119 | 100| 70 | 114 | 190 | 240 | 254 | 413 219 PG 11 20.4

50-125/0.55 65 | 115 | 145 | 185 | 16
50-160/1.1R 65 | 115 | 145 | 185 | 16

50 | 95 | 125 | 165 | 16
- 50 | 95 | 125| 165 | 16

292 | 132 | 160 | 119 | 100| 70 | 114 | 190 | 240 | 254 | 413 219 PG 11 20.5
340 | 160 | 180 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 452 | 244+255 | PG13.5| 286

(o] Kool R R e N R e e R e N e B N N N N N N Y N R R N R R RN S
[N) ENATSRRSATNERNIN NN Y FNA R ST ENRECRRNY ECNE Y FRRT R RN B N PR B N B N B N

50-160/1.1 65 | 115|145 | 185 | 16 - 50 | 95 | 125 | 165 | 16 340 | 160 | 180 | 124 [ 100| 70 | 115 | 212 | 265 | 296 | 452 | 244+255 | PG 13.5| 287
50-200/1.5R 65 | 115 | 145 | 185 | 16 50 | 95 | 125 | 165 | 16 360 | 160 | 200 | 124 [ 100| 70 | 115 | 212 | 265 | 296 | 491 | 244+255 | PG13.5| 305
50-200/1.5 65 | 115 | 145 | 185 | 16 - 50 | 95 | 125 | 165 | 16 360 | 160 | 200 | 124 [ 100| 70 | 115 | 212 | 265 | 296 | 491 | 244+255 | PG13.5| 316
50-200/2.2 65 | 115 | 145 | 185 | 16 - 50 | 95 | 125 | 165 | 16 360 | 160 | 200 | 141 | 100| 70 | 115 | 212 | 265 | 296 | 474 253 PG 16 30
65-125/0.55 80 | 134 | 160 | 200 | 18 4| 65 | 115 | 145 | 185 | 16 340 | 160 | 180 | 119 | 100| 95 | 140 | 212 | 280 | 254 | 413 219 PG 11 219
65-125/0.75 80 | 134 | 160 | 200 | 18 4| 65 | 115 | 145 | 185 | 16 340 | 160 | 180 | 124 | 100| 95 | 140 | 212 | 280 | 254 | 452 | 244+255 |PG13.5] 20
65-125/1.1 80 | 134 | 160 | 200 | 18 4| 65 | 115 | 145 | 185 | 16 340 | 160 | 180 | 124 | 100| 95 | 140 | 212 | 280 | 254 | 452 | 244+255 | PG13.5| 20
65-160/1.1 80 | 134 | 160 | 200 | 18 4| 65 | 115 | 145 | 185 | 16 360 | 160 | 200 | 124 | 100| 95 | 140 | 212 | 280 | 296 | 452 | 244+255 | PG13.5| 285
65-160/1.5 80 | 134 | 160 | 200 | 18 4| 65 | 115 | 145 | 185 | 16 360 | 160 | 200 | 124 | 100| 95 | 140 | 212 | 280 | 296 | 491 | 244+255 | PG13.5] 30
65-160/2.2 80 | 134 | 160 | 200 | 18 4| 65| 115 | 145 | 185 | 16 360 | 160 | 200 | 141 | 100| 95 | 140 | 212 | 280 | 296 | 474 253 PG 16 32
65-200/2.2R 80 | 134 | 160 | 200 | 18 4] 65 | 115 | 145| 185 | 16 405 | 180 | 225 | 141 |100| 95 | 140 | 250 | 320 | 296 | 474 253 PG 16 30
65-200/2.2 80 | 134 | 160 | 200 | 18 4 | 65 | 115 | 145 | 185 | 16 405 | 180 | 225 | 141 | 100| 95 | 140 | 250 | 320 | 296 | 474 253 PG 16 30
65-200/3 80 | 134 | 160 | 200 | 18 4| 65 | 115 | 145 | 185 | 16 405 | 180 | 225 | 141 | 100| 95 | 140 | 250 | 320 | 296 | 514 253 PG 16 38

[1] Standard [2] On request

400

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

DIMENSIONS AND WEIGHT

50Hz

Rev. G
PUMP 3(.)M4 65-250, 80
D2
P2
Al A2
DN2
o B ALLW 2—-G3 /8
Vi /
L
8-918 /
N
N
% T
r(') ¢
T pu
| - 5 ] I - ) +
ol ol & < ! /
] - 4 _
7 T
<
> §
t ‘ t T T T
‘ w 25 4-¢D3 ‘ 80 ‘ ‘ M1
M N1
R | C N2
B
Dimensions [mm] Weight
Pump type ki
DN1| P1 | K1 | D1|S1 DN2 P2 | D2 |{S2| H|H1|H2 | H3|[H4] R | W [NT|N2| M [M1|A1 A2 | B C G |D3 V1 V2 kaf]
65-250/4 80 |135|160|200| 22| 65Fig.1 | 120|185|20|450|200| 250|150 | 15| 100|120 | 280|360 | 160 | 80 | 175| 182|559 | 295 |220|19| PG13.5| PG16 81
65-250/5.5 80 |135|160|200| 22| 65Fig.1 | 120|185 20|450|200| 250|178 | 15| 100|120 | 280|360 | 160 | 80 | 175|182|612| 376 |259|19| PG13.5| PG21 96
80-160/1.5 | 100 | 155|180 |225| 24| 80Fig.2 | 135|200 | 22| 405|180| 225|124 | 13| 125| 95 | 250|320 | 125| 65 | 147 | 173 | 516 | 244+255 | 176 | 15 PG135| 53
80-160/2.2R | 100 | 155|180 |225| 24| 80 Fig.2 | 135|200 22| 405| 180|225 |141| 13| 125| 95 |250|320| 125| 65| 147 | 173|499| 253 |193|15 PG16 53
80-160/2.2 | 100 | 155|180 |225| 24| 80Fig.2 | 135|200 |22 |405|180|225|141| 13| 125| 95 |250|320|125| 65| 147 | 173|499| 253 |193|15 PG16 53
80-200/3 100 | 155|180 225| 24 | 80 Fig.2 | 135|200 | 22| 430|180 |250| 141| 13| 125| 95 | 280| 345|125 | 65 | 175| 182 | 561 275 |193|15 PG16 73
80-200/4R 100 | 155|180 225| 24| 80Fig.2 | 135|200|22|430|180|250|150| 13| 125| 95 [280|345|125| 65| 175|182 | 584 295 220| 15| PG13.5| PG16 80
80-200/4 100 | 155|180 225| 24| 80Fig.2 | 135|200|22|430|180|250|150| 13| 125| 95 [280|345|125| 65| 175|182 | 584 295 220| 15| PG13.5| PG16 81
80-250/5.5R | 100 | 155| 180 | 225| 24| 80 Fig.2 | 135|200 22|480|200|280|178| 15| 125|120 |315|400| 160 | 80 | 175|192 | 637 376 259 19| PG13.5| PG21 94
80-250/5.5 100 | 155|180 |225| 24| 80Fig.2 | 135|200|22|480|200|280|178| 15| 125|120|315|400| 160| 80 | 175| 192 | 637 376 259 19| PG13.5 | PG21 95

401

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

DIMENSIONS AND WEIGHT

50Hz

PUMP 3(.)S4 32, 40, 50, 65-125/160
B

S2

T

=

D1
P1

,DN1‘ ‘ ‘
1
J

e =
=3

Fig. 1

S

Fig. 2
25|

Rev. G

Dimensions (mm) .
Weight
Pump type 9| 0| 0| @ z | @| 0| @ [kgf]
DN1| P1 | K1 | D1 |S1|[1][[2]|DN2| P2 | K2 | D2 | S2|Fig.| H |H1|H2 | H3 | R |W | M |N1|N2| A| B|C| X]|Y]|K V1 V2
32-125/0.25 50 | 95 | 125|165| 16 | 4| - | 32 | 75 |100|140| 14| 1 |252|112| 140|114 | 80 | 70 | 114 | 140 | 190 | 213 | 404 | 153 | 112| 140| 8 | M20x1.5| M16x1.5| 15.4
32-160/0.37R | 50 | 95 | 125|165| 16 | 4 | - | 32 | 75 | 100 | 140| 14| 1 |292| 132|160 | 114 | 80 | 70 | 118| 190 | 240 | 254 | 404 | 153 | 112| 140| 8 | M20x1.5| M16x1.5] 18.5
32-160/0.37 50 | 95 |125|165| 16 | 4| - | 32 | 75 |100|140| 14| 1 |292|132| 160|114 | 80 | 70 | 118 | 190 | 240 | 254 | 404 | 153 | 112| 140| 8 | M20x1.5| M16x1.5| 18.7
32-200/0.55R | 50 | 95 | 125|165| 16 | 4 | - | 32 | 75 | 100 | 140| 14| 1 | 340|160 | 180|139 | 80 | 70 | 119|190 | 240 | 296 | 430 | 174 | 140| 168 | 10 | M25x1.5 | M20x1.5 28
32-200/0.55 50| 95 |125(165| 16| 4| - | 32| 75 |100(140( 14| 1 |340|160| 180| 139| 80 | 70 | 119| 190 | 240 | 296 | 430 | 174 | 140| 168 | 10 | M25x1.5 | M20x1.5 33
32-200/0.75 50 | 95 | 125|165/ 16| 4| - | 32 | 75 |100| 140| 14| 1 | 340|160 180|139 | 80 | 70 | 119] 190 | 240 | 296 | 430 | 174 | 140 | 168 | 10 | M25x1.5 | M20x1.5] 29.5
40-125/0.37R | 65 | 115|145|185| 16| 4| - | 40 | 80 | 110|150 | 14 | 1 |252|112| 140|114 | 80 | 70 | 114|160 | 210 | 213 | 404 | 153 | 112| 140 | 8 | M20x1.5| M16x1.5 16.2
40-125/0.37 65 | 115/ 145(185| 16 | 4 | - | 40 | 80 [ 110|150 14| 1 |252| 112| 140|114 | 80 | 70 | 114 | 160 | 210 | 213 | 404 | 153 | 112| 140 | 8 | M20x1.5| M16x1.5 16.2
40-160/0.55R | 65 | 115|145|185| 16 | 4 | - | 40 | 80 | 110|150 | 14| 1 |292|132|160| 139| 80 | 70 | 118 | 190 | 240 | 254 | 430 | 174 | 140 | 168 | 10 | M25x1.5| M20x1.5| 23.5
40-160/0.55 65 | 115/ 145(185| 16 | 4 | - | 40 | 80 [ 110|150 | 14| 1 |292| 132|160 | 139 | 80 | 70 | 118 | 190 | 240 | 254 | 430 | 174 | 140| 168 | 10 | M25x1.5| M20x1.5] 23.5
40-200/1.1R 65 | 115|145 185| 16 | 4 | - | 40 | 80 | 110|150| 14| 2 |340|160| 180| 148|100 | 70 | 115|212 | 265 | 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5| M20x1.5| 34.3
40-200/1.1 65 | 115|145(185| 16 | 4| - | 40 | 80 [ 110|150 | 14| 2 |340| 160|180 | 148 | 100| 70 | 115|212 | 265| 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5| M20x1.5] 34.3
40-200/1.5 65 | 115|145/ 185| 16 | 4 | - | 40 | 80 | 110|150| 14| 2 |[340|160| 180| 148| 100| 70 | 115|212 | 265 | 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5| M20x1.5| 35.5
50-125/0.55R | 65 | 115|145|185| 16 | 4 | - | 50 | 95 | 125|165| 16 | 2 |292| 132|160 | 139 |100| 70 | 114 | 190 | 240 | 254 | 450 | 174 | 140 | 168 | 10 | M25x1.5| M20x1.5] 23.7
50-125/0.55 65 | 115/ 145(185| 16 | 4 | - | 50 | 95 | 125|165| 16| 2 |292| 132|160 | 139|100 | 70 | 114 | 190 | 240 | 254 | 450 | 174 | 140 | 168 | 10 | M25x1.5| M20x1.5] 23.7
50-160/1.1R 65 | 115|145|185| 16 | 4 | - | 50 | 95 | 125|165| 16| 2 | 340| 160| 180| 148|100 | 70 | 115|212 | 265 | 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5 | M20x1.5 34
50-160/1.1 65 | 115|145|185| 16 | 4 | - | 50 | 95 | 125|165| 16| 2 | 340| 160|180 | 148|100 | 70 | 115|212 | 265 | 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5 | M20x1.5 34
50-200/1.5R 65 | 115|145|185| 16 | 4 | - | 50 | 95 | 125|165| 16| 2 | 360| 160|200 | 148|100 | 70 | 115|212 | 265 | 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5| M20x1.5| 37.1
50-200/1.5 65 | 115|145|185| 16 | 4 | - | 50 | 95 | 125|165| 16| 2 |360| 160|200 | 148|100 | 70 | 115|212 | 265 | 296 | 497 | 186 | 140| 168 | 10 | M25x1.5| M20x1.5| 37.1
65-125/0.55 80 [134|160|200| 18| 8 | 4 | 65 | 115|145|185| 16| 2 |340|160| 180| 139|100 | 95 | 140 | 212 | 280 | 254 | 450 | 174 | 140 | 168 | 10 | M25x1.5| M20x1.5| 21.5
65-125/0.75 80 [134|160|200| 18| 8 | 4 | 65 | 115|145|185| 16| 2 | 340| 160|180 | 139|100 | 95 | 140 | 212 | 280 | 254 | 450 | 174 | 140| 168 | 10 | M25x1.5 | M20x1.5 30
65-125/1.1 80 [134|160|200| 18| 8 | 4 | 65 | 115|145|185| 16| 2 | 340| 160| 180 | 148|100 | 95 | 140 | 212 | 280 | 254 | 497 | 186 | 140 | 168 | 10 | M25x1.5 | M20x1.5 30
65-160/1.1 80 [134|160|200| 18| 8 | 4 | 65 | 115|145|185| 16| 2 | 360| 160| 200 | 148 | 100 | 95 | 140 | 212 | 280 | 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5 | M20x1.5 31
65-160/1.5 80 | 134|160[200| 18 | 8| 4 | 65 | 115|145|185| 16 | 2 | 360 160| 200| 148 | 100 | 95 | 140| 212 | 280 | 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5 | M20x1.5 43

[1] Standard [2] On request

402

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

DIMENSIONS AND WEIGHT 50Hz

Rev. G

PUMP 3(.)S4 50, 65-160/200

548
D2
P2
DN2 M25x1.5 296
e ‘ ‘ M20x1.5 =018 |
)
St | ‘—3@ - TY@ [©) [1
I A| o~
=7 ‘7 3 ? { B I
— —HE0000 - \@\
. Ml —= { ?r\\ -
5 5 8 i D)
— —E0000 - §
— ‘ ;| ‘:l *‘: 'SS J _
- - mn mm -
I L] H H o
P | | 723\
1 T T T
100 205 ‘ 140 ‘ 225 4-915
25 w N1
M N2
4-911

Dimensions (mm) .
Weight
Pump type g | @ 9| 0| 0| O kgf]
DN1| P1 | K1 | D1 |S1|[1]|[2]|DN2| P2 | K2 | D2 | H | H H2 | W | M | N1 | N2
3S 50-200/2.2 65 | 115| 145| 185 | 16 50 | 95 | 125| 165|360 | 160 | 200 | 70 | 115|212 | 265| 43
3S 65-160/2.2 80 | 134|160 | 200 | 18 65 | 115| 145| 185|360 | 160 | 200 | 95 | 140 | 212| 280| 46
3S 65-200/2.2R 80 | 134|160 | 200 | 18 65 | 115| 145|185 | 405 | 180 | 225| 95 | 140 | 250 | 320| 42.5
3S 65-200/2.2 80 | 134|160 | 200 | 18 65 | 115| 145| 185| 405 | 180 | 225| 95 | 140 | 250 | 320| 43
3S 65-200/3 80 | 134|160 | 200 | 18 65 | 115|145| 185|405 | 180 | 225| 95 | 140 | 250 | 320| 48.5

[1] Standard [2] On request

Q
Q
N

|0 | ||
N

403

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 SERIES 4 Poles

CENTRIFUGAL PUMPS

50Hz

DIMENSIONS AND WEIGHT

Rev. G

PUMP 3LS4 65-250, 80

404

1sanbai uQ [¢] piepueys 1]
0zl [gixzew|s Lxzen| 61| 8vez| o | v9z| zoz| z6L| sL1| 8zz| ove| Gie] 21L] 08] 09L] 0ov]SLe|0zL|SzL| 89] 51| 861] 082] 00z] 08¥| 22|00z S€L]Z "Bid 08 vZ|STe| 08L]SSL| 001 G2/06¢2-08
SLL | ixzen|s ixzew] 61| eve| ov| voz]| 299l z6L| 1| 8zz] ove|sie| L6L| o8] 09| oov| sie|ozL|sei] 89] 1| 861] 082|002] 08Y| 2Z] 002Z|S€EL|Z B4 08 ¥Z| S2z|08L]SSL| 00L G'6/062-08
viL g ixzew|s ixzen| 61| 8vz| ov | voz| 299l z6L| 21| 8zz| ove| Gie] 21| 08] 091] oov|sLefozi|szL| 89] 51| 861] 082] 00z] 08¥| 22| 02| S€L]Z "Bid 08 v2|STz|08L|SSL| 00L| WS G/052-08
06 G Lx0zZN| S LxszW| SL| sze| ov| 861| s09f zsl|sLL| sz ove|sie] LsL| s9] sz sve|osz| g6 |sei]|89] eL| 12| 0sz|08L]0ey| 2z 00z|Sel|z B4 08| v2| S2z|08L] SSL| 001 ¥/002-08
¥8 G Ix0zZN| 6 Lxszin| 51| szz| ov | 861| s09| zeL| sz 8zz| ove|sie] 261] G9)szh| sve]08z| g6 |szL| 89] ]| 1zL] 05z 08L]0er| 22| 00| S€L]Z "Bid 08 v2|Szz| 08L|SSL| 00t y¥/002-08
08 g Ix0zN| S LxszW] sL| 961 sz|siefess|esl|sLi|o6l]sLz|osz)ovL| s9] sz sve|osz| g6 |sei] o8] eL|ssi]osz|ost]oer|zz|00z|sel|z B4 08| v2| Szz|08L]SSL| 0oL €/002-08
0L G Ix0ZN| G LxGZW] GL| 961 sz| soz|eLs|eLL| Lvi|o6L] SLz|osz)ovL| s9)szL|oze|osz| 6 |szi] 08| €lL|ssh]szz|08L]sor| 2z 00z|sel|z B4 08| 2| Sez|osL]sSL| 0oL 2°2/091-08
169 | g 1xozW|s 1xszn| s1]961| sz|soz]ess|est| Lri|o6L|sLz|osz|ovL]| g9l sz oze]ose] g6 |szi] o8] €L|ssL|sez|osL|sor| zz|ooz|seL|z B4 08| v2| Szz) 08L] SSL| 00L| ¥Z'Z/091-08
801 |G Ixzen|s Lxzen| 61| 8ve| ov| vaz| 2e9| z81] S| 8zz| ove|siel L1 08| 091] 09g| 08z 0zL|00L] 89| S1| 861|052 00Z| 0S¥| 02| S8L|0ZL|L B4 69| 22| 00Z|09L|SEL]| 08 §°'6/06¢2-99
S8 G 1x0ZN| S Lxszi| 61| szz| oz|siz|oss|zeL|sLL| 281 062 S9z] LiL] 08] 091] 09¢] 08z| 0zL|00L| 88] 51| 121 0S| 00Z] 0S¥| 02| S8L|0ZL] L "Bid G9f zz] 00Z| 09L|SEL| 08 ¥/06¢-59

[16%1] CA LA €al O] O g fev| v ST a1 L1 T LA W]ZN] IN| M| o |SHIYH| EH| ¢H] IH| H |ZS| 2a]| 2d ¢NQ | LS| La] IM] Ld|INa
5 adA) dwnd
ublam [wuw] suoisuawiq
Sl M
¢N [E|
IN
¢ae—v
”
ju
[$)]
=
a Ao - Y
- ()
T
L L Ty
I
- w
N
8168

A

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

DIMENSIONS AND WEIGHT 50Hz

Rev. G

PUMP 3LS4 80-160/1.5

¢ 200
¢ 135 147 173
DN8Q _
N M25x1.5 2-C3/8
~N
| M20x1.5 8-018
e ;
— ~
J b O 9] ] g
— 3
o o)
8 8 8 ‘ i 2 g
= 00000 )
he < e ‘ B"ﬂ[]ﬂ i Im: ]
Egl | (B
24 t t ==
95 | 15 4-915
|
125
125 | 186 320
522
o| o
- 3 <
Weight: 60.5 kgf
405

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

DIMENSIONS AND WEIGHT 50Hz

Rev. G
PUMP 3(.)P4 32, 40, 50, 65-125/160/200
B
D2 B1
P2 |
DN2
R A
3
St
o) £
- @fm@
5 & 2 T { ﬂ Jl ES
w ‘ Vé
: BN -
] 7-918 Q
7ZZ MR
Only for ‘ 3
32-125/0.25 s
32-160/0.37 l
32-200/0.55/0.75 0 ‘ N3
40-125/0.37
40-160/0.55 | N1 |
L) Nz 1
Dimensions [mm] Weight
Pumptype | @ | 8| O | @ z | @ o\|@ Hiw|m|w|rR[A|B|BI|E|N|N|[N]T V1 v2 | k]

DN1| P1 | K1 | D1 | $1
3P 32-125/0.25 | 50 | 95 | 125 | 165 | 16
3P 32-160/0.37R | 50 | 95 | 125 | 165 | 16
3P32-160/0.37 | 50 | 95 | 125|165 | 16
3P 32-200/0.55R | 50 | 95 | 125 | 165 | 16
3P 32-200/0.55 | 50 | 95 | 125 | 165 | 16
3P32-200/0.75 | 50 | 95 | 125|165 | 16
3P 40-125/0.37R | 65 |115| 145 | 185 | 16
3P 40-125/0.37 | 65 |115| 145|185 | 16
3P 40-160/0.55R | 65 |115]| 145 | 185 | 16
3P 40-160/0.55 | 65 [115]| 145 | 185 | 16
3P 40-200/1.1R | 65 |115| 145 | 185 | 16
3P 40-200/1.1 65 [115] 145 [ 185 | 16
3P 40-200/1.5 65 |115[ 145|185 | 16
3P 50-125/0.55R | 65 |115| 145 | 185 | 16
3P 50-125/0.55 | 65 |115| 145|185 | 16
3P50-160/1.1R | 65 [115]| 145 | 185 | 16
3P 50-160/1.1 65 |115]| 145|185 | 16
3P 50-200/1.5R | 65 [115]| 145 | 185 | 16
3P 50-200/1.5 65 |115( 145|185 | 16
3P 50-200/2.2 65 |115| 145|185 | 16

(%]
[2]|DN2| P2 | K2 | D2 |S2
-| 32| 75 [100]| 140 | 14| 302 | 112 | 140 | 114 | 80 | 213 | 689 | 246 | 550 | 300 | 340 | 250 | 710 | M20x1.5 | M16x1.5 37
-| 32| 75 (100 140 | 14| 342 132 | 160 | 114 [ 80 | 254 | 689 | 246 | 510 | 350 | 390 | 300 | 670 | M20x1.5 | M16x1.5 41
- | 32| 75 [100)| 140 | 14| 342 | 132 | 160 | 114 [ 80 | 254 | 689 | 246 | 510 | 350 | 390 | 300 | 670 | M20x1.5 | M16x1.5 41
-| 32| 75 (100|140 | 14| 390 | 160 | 180 | 139 [ 80 | 296 | 715 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 53.5
-| 32| 75 [100)| 140 | 14| 390 | 160 | 180 | 139 [ 80 | 296 | 715 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 53.5
-| 32| 75 [100)| 140 ] 14| 390 | 160 | 180 | 139 [ 80 | 296 | 715 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 54.5
-| 40 | 80 [110]| 150 | 14| 302 | 112 | 140 | 114 [ 80 | 213 | 689 | 246 | 550 | 300 | 340 | 250 | 710 | M20x1.5 | M16x1.5 | 46.5
- | 40 | 80 [110]| 150 | 14| 302 | 112 | 140 | 114 [ 80 | 213 | 689 | 246 | 550 | 300 | 340 | 250 | 710 | M20x1.5 | M16x1.5 | 46.5
- | 40 | 80 [110)| 150 | 14| 342 | 132 | 160 | 139 [ 80 | 254 | 715 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 44.5
-| 40 | 80 [110]| 150 | 14| 342 | 132 | 160 | 139 [ 80 | 254 | 715 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 44.5
-| 40 | 80 [ 110|150 | 14| 390 | 160 | 180 | 148 [ 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 61.5
- | 40 | 80 {110 150 | 14| 390 | 160 | 180 | 148 [ 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 61.5
- | 40 | 80 [110]| 150 | 14| 390 | 160 | 180 | 148 [ 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 64
50 | 95 [ 125]165| 16| 342 | 132 | 160 | 139 | 100 | 254 | 735 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 45
-| 50 | 95 [125]| 165| 16| 342 | 132 | 160 | 139 [ 100 | 254 | 735 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 45
- | 50 | 95 [125]| 165| 16| 390 | 160 | 180 | 148 [ 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 52.5
-| 50| 95 |125]165| 16| 390 | 160 | 180 | 148 | 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 52.5
-| 50 | 95 [125]| 165] 16| 410 | 160 | 200 | 148 [ 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 64
- | 50 | 95 [125]| 165| 16| 410 | 160 | 200 | 148 [ 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 64
50 | 95 | 125]165| 16| 410 | 160 | 200 | 155 | 100 | 296 | 829 | 366 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 70

[o<] o=} le.] oo} NooRiec] oo) oo] o] IR IR I I I IR IR IR IR I I I I I IR I I I I I Y

3P 65-125/0.55 | 80 |134| 160 | 200 | 18 41 65 |115|145|185| 16| 390 | 160 | 180 | 139 | 100 | 254 | 735 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 48.5
3P 65-125/0.75 | 80 |134| 160 | 200 | 18 4|65 |115|145|185| 16| 390 | 160 | 180 | 139 | 100 | 254 | 735 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 48.5
3P 65-125/1.1 80 | 134|160 | 200 | 18 4|65 |115|145|185| 16| 390 | 160 | 180 | 148 | 100 | 254 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 56
3P 65-160/1.1 80 |134( 160 | 200 | 18 4|65 |115|145|185| 16| 410 | 160 | 200 | 148 | 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 62.5
3P 65-160/1.5 80 |134( 160 | 200 | 18 4|65 |115|145|185| 16| 410 | 160 | 200 | 148 | 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 63.5
3P 65-160/2.2 80 |134[ 160 | 200 | 18 4|65 |115|145|185| 16| 410 | 160 | 200 | 155 | 100 | 296 | 829 | 366 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 71.5
3P 65-200/2.2R | 80 |134| 160 | 200 | 18 4| 65| 115|145 185| 16| 455 | 180 | 225 | 155 | 100 | 296 | 829 | 366 | 590 | 380 | 420 | 330 | 750 | M25x1.5 | M20x1.5 74
3P 65-200/2.2 80 |134( 160 | 200 | 18 4|65 |115|145| 185| 16| 455 | 180 | 225 | 155 | 100 | 296 | 829 | 366 | 590 | 380 | 420 | 330 | 750 | M25x1.5 | M20x1.5 74
3P 65-200/3 80 | 134|160 | 200 | 18 4|65 |115|145|185| 16| 455 | 180 | 225 | 155 | 100 | 296 | 829 | 366 | 590 | 380 | 420 | 330 | 750 | M25x1.5 | M20x1.5 | 77.5
[1] Standard [2] On request

406

E2ARA EBARA PUMPS EUROPE S.p.A.



3 SERIES 4 Poles

CENTRIFUGAL PUMPS

50Hz

DIMENSIONS AND WEIGHT

Rev. G

PUMP 3LP4 65-250, 80

}senbai uQ [z]

psepuels [1]

407

1a

S'ePl | SIXZEN |G LXCEW | 8 | 6L | 096 |09L 8FZ |00L | 0L |28 |080L [Ovi |05 |0LS [S2L| 89 | 09 | 861 |08z |00z |OvS | 22 |00z |SseL |z 61408 | ¥2 |szz|sst | ooL §'//05¢-08
S'YEL | SUXZEN |G LXZEW | 8 | 6L |096 [09Z|8¥Z |00l [0LY|2¥i|0vOL |0y |05 |0LG [S2L| 89 | 09 861 |08z |00z |0¥S | 22 |00z |seL |2 Bid08 | vz |szz|sst | ool §'G/06¢-08
YEL | SIXZEW | GLXCEW [ 8 | 6L |096 |09 [8¥Z |00L | 0Ly 2P| OVOL [0V | 0G| 0LS (STl | 89 | 09 | 861 |08Z |00Z |0vS | 22 |00z |SeL |2 61408 | ¥ |[Szz |ss) | ool | WS S/0S52-08
yA) SLX0ZN| S LXGZN | 8 [ 6L |006|00L[S2Z [00L |0LY|88E] 986 |06€E|02S |09 |SzL [ 89 | 09 |LLL [0Sz |08L |06% | 22 |00z |SeL |2 61408 | ¥2 |Szz [sst | ooL ¥/002-08
S9LL | SLX0ZN| G LXSZIN | 8 | 6L | 006 |00L[S2Z |00L |0LY7|88€| 986 |06€E|02S |09% [SZL| 89 | 09 |L2L|0SZ |08L |06 | 22 |00Z |SeL |2 61408 | ¥2 |szz|sst | ooL ¥¥/002-08
G'60L | SLXOZIN| G LXGZN | 8 | 6L |006 [00Z|96L |00L [0L1|99€| ¥96 |06E|02S |09% [SzL | 08 | 09 [SSL |0z |08L |06v | 22 |00z |seL |2 Bid08 | v2 |szz|sst | ool €/002-08
G'00L | SLXOZIN| G LXGZN [ G | GL |0SZ[06S|96L | 08 [09€|99¢e| ¥S8 |0ee|0ey |08€E [SzL | 08 | 05 [sslL |szz |08l |ssy | zz ooz |sel |z Bid08 | vz |szz|sst | oo 2'2/091-08
98 SLXOZN| S LXGZN | G [ SL |0SL|06S |96 | 08 |09e|99¢| ¥S8 |0EE |0ZY |08E |SZL | 08 | 0S |SSL |Szz |08t |SSy | 2z |00z [seL |2 Bid 08 | vz |szz|ssL | ool | ¥2'2/09L-08
08 SLX0ZN| S IXGZN | G [ GL |0SL|06S[08L | 08 |09e|ZLE]| S08 |0ce |02y |08E |S2L | 06 | 0S |8vL |Szz |08L |ssy | 2z [ooz |seL |z 61408 | ¥2 |szz [sst | ooL S'1/091-08
0EL | SLXZEN |G IXZEW | 8 | 6L |096 [09Z|8vZ |00l |0Lv|2vi|SLOL |0y |02G|0LG [00L | 89 | 09 861 |05z |00z |0LG | 0Z |S8L |0zl | 1L BidG9 | 2z [ooz|seL | 08 G'G/0G2-G9
S'€Ll | SLXOZIN| G LXGZN | 8 | 6L |096 [09.|Szz |00l [0Lv|88e| L96 |0t |05 |0LG (0oL | 88 | 09 121 |0gz |00z |0LG | 0Z |S8L |ozL| L BidG9 | 2z |00z |seL | 08 /062-G9
[46%] N LA ds|ya| L | 3 O1a|o|tg] 8 [EN|ZN|IN| Y |SH|VH|EH]|ZCH|IH| H |[2S|2a|cd ¢Na LS| ia|id |ING odfs duing
Wblom [ww] suoisuswiq
¢N
IN
N
=
~
w
©
. T
o
=
D _
- o - A o
) =2
&
- WNP=
~
8198
\ 1

8/£9-7

14

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

DIMENSIONS AND WEIGHT 50Hz
Rev. G
PACKING 3(.)M4
Pump type Packing [mm] V\{?gf]]ht I:’ac:
7 x v g yp
32-125/0.25 450 | 250 | 300 18.1
32-160/0.37R 215
4 2
32-160/0.37 30 80 | 330 22.1
32-200/0.55R 26.4
32-200/0.55 500 | 330 | 390 26.4 TYPE 1
32-200/0.75 31
40-125/0.37R 16.9 T
40-125/0.37 450 | 250 ) 300 17
40-160/0.55R 23.3
4 2
40-160/0.55 30 80 | 330 23.4 .
40-200/1.1R 317
40-200/1.1 500 | 330 | 390 31.8
40-200/1.5 33 ]
50-125/0.55R 430 | 280 | 330 225 I 4
50-125/0.55 22.6
50-160/1.1R 315 7
50-160/1.1 31.6
50-200/1.5R 500 | 330 | 390 327
50-200/1.5 338 TYPE 2
50-200/2.2 32.7
65-125/0.55 243 o
(— [ —
65-125/0.75 22
65-125/1.1 26.5
65-160/1.1 500 | 330 | 390 31
65-160/1.5 34
65-160/2.2 35 >
65-200/2.2R 35
65-200/2.2 620 | 410 | 475 35
65-200/3 40
65-250/4 92 J t
65-250/5.5 800 | 495 | 550 106 — N
80-160/1.5 58 ‘ z ‘
80-160/2.2R 620 | 410 | 475 58 2
80-160/2.2 58
80-200/3 78
80-250/4R 85
80-250/4 800 | 495 | 550 86
80-250/5.5R 99
80-250/5.5 103

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

DIMENSIONS AND WEIGHT 50Hz
Rev. G
PACKING 3(.)S4
Packing [mm] Weight Pack
Pum e
PP 2 1 x | v | kel | tpe
32-125/0.25 450 | 250 | 300 175
32-160/0.37R 215 1
430 | 280 | 330
32-160/0.37 213
2-200/0.55R A
32-200/0.55 500 | 330 | 390 30
32-200/0.55 343 2
32-200/0.75 720 | 370 | 430 323 TYPE 1
40-125/0.37R 185
450 | 250 | 300 _
40-125/0.37 18.8 ]
40-160/0.55R 255
490 | 280 | 340
40-160/0.55 256
40200M1.1R 354 .
40-200/1.1 720 | 370 | 430 354 2
40-200/1.5 407 \
50-125/0.55R 259 — \/
490 | 280 | 340 1
50-125/0.55 259 7
50-160/1.1R 40
50-160/1.1 40
50-200/1.5R 720 | 370 | 430 386 TYPE 2
50-200/1.5 386
50-200/2.2 475 — /
65-125/0.55 28
65-125/0.75 33
65-125/1.1 600 | 370 | 420 371
65-160/1.1 39
65-160/1.5 40 >
65-160/2.2 45
65-200/2.2R 50
620 | 410 | 475
65-200/2.2 50 2
65-200/3 50 J t N
65-250/4 800 | 495 | 550 95 \ 7 \
65-250/5.5 116 ‘ |
80-160/1.5 620 695
80-160/2,2R 700 | 410 | 475 755
80-160/2,2 76
80-200/3 88
80-200/4R 94
80-200/4 97
80-250/5.5R 800 | 4% | 5%0 124
80-250/5.5 125
80-250/7.5 130

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

DIMENSIONS AND WEIGHT

50Hz

PACKING 3(.)P4

Pumptpe | Peckinglmm) | el
Z X Y

32-125/0.25 37
32-160/0.37R 41
32-160/0.37 41
32-200/0.55R 535
32-200/0.55 535
32-200/0.75 54.5
40-125/0.37R 46.5
40-125/0.37 46.5
40-160/0.55R 445
40-160/0.55 445
40-200/1.1R 615
40-200/1.1 61.5
40-200/1.5 64
50-125/0.55R 45
50-125/0.55 45
50-160/1.1R 525
50-160/1.1 525
50-200/1.5R 64
50-200/1.5 64
65-125/0.55 485
65-125/0.75 50
65-125/1.1 56
65-160/1.1 625
65-160/1.5 635
65-160/2.2 715
65-200/2.2R 74
65-200/2.2 74
65-200/3 775
65-250/4 113.5
65-250/5.5 130
80-160/1.5 80
80-160/2.2R 86
80-160/2.2 100.5
80-200/3 109.5
80-200/4R 116.5
80-200/4 117
80-250/5.5R 134
80-250/5.5 134.5
80-250/7.5 143.5

Rev. G

410

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

TECHNICAL DATA 50Hz

Rev. G

MOTOR DATA 3(.)M4

Power Input Efficiency (% load) Full load current Locked rotor current
. and power-factor [A] [Al
Pump type Efficiency "% G080
[kW] | [HP] [kW] 230V | 400V | 690V | 230V | 400V | 690 V
50% | 75% | 100%

3(.)M4 32-125/0.25 0.25 | 0.33 IE1 0.55 - - - - 1.9 1.1 - 7.3 4.2 -
3(.)M4 32-160/0.37R 0.37 0.5 IE1 0.80 - - - - 2.6 1.5 - 9.9 5.7 -
3(.)M4 32-160/0.37 0.37 0.5 IE1 0.80 - - - - 2.6 1.5 - 9.9 5.7 -
3(.)M4 32-200/0.55R 0.55 | 0.75 IE1 0.80 - - - - 2.6 1.5 - 9.9 5.7 -
3(.)M4 32-200/0.55 0.55 | 0.75 IE1 0.80 - - - - 2.6 1.5 - 9.9 5.7 -
3(.)M4 32-200/0.75 0.75 1 IE2 1.41 784 | 816 | 819 | 0.76 4.6 27 - 32.0 | 185 -
3(.)M4 40-125/0.37R 0.37 0.5 IE1 0.55 - - - - 1.9 1.1 - 7.3 4.2 -
3(.)M4 40-125/0.37 0.37 0.5 IE1 0.55 - - - - 1.9 1.1 - 7.3 4.2 -
3(.)M4 40-160/0.55R 0.55 | 0.75 IE1 0.80 - - - - 2.6 1.5 - 9.9 5.7 -
3(.)M4 40-160/0.55 0.55 | 0.75 IE1 0.80 - - - - 2.6 1.5 - 9.9 5.7 -
3(.)M4 40-200/1.1R 1.1 1.5 IE2 1.41 784 | 816 | 819 | 0.76 4.6 27 - 32.0 | 185 -
3(.)M4 40-200/1.1 1.1 1.5 IE2 1.41 784 | 816 | 819 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 40-200/1.5 1.5 2 IE2 188 | 80.3 | 834 | 83.8 | 0.75 6.2 3.6 - 45.0 | 26.0 -
3(.)M4 50-125/0.55R 0.55 | 0.75 IE1 0.80 - - - - 2.6 1.5 - 9.9 5.7 -
3(.)M4 50-125/0.55 0.55 | 0.75 IE1 0.80 - - - - 2.6 1.5 - 9.9 5.7 -
3(.)M4 50-160/1.1R 1.1 1.5 IE2 1.41 784 | 816 | 81.9 | 0.76 4.6 2.7 - 320 | 185 -
3(.)M4 50-160/1.1 1.1 1.5 IE2 1.41 784 | 816 | 819 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 50-200/1.5R 1.5 2 IE2 1.88 | 80.3 | 834 | 83.8 | 0.75 6.2 3.6 - 450 | 26.0 -
3(.)M4 50-200/1.5 1.5 2 IE2 1.88 | 80.3 | 834 | 83.8 | 0.75 6.2 3.6 - 450 | 26.0 -
3(.)M4 50-200/2.2 22 3 IE2 270 | 846 | 86.0 | 856 | 0.83 8.1 47 - 52.0 | 30.0 -
3(.)M4 65-125/0.55 0.55 | 0.75 IE1 0.80 - - - - 2.6 1.5 - 9.9 5.7 -
3(.)M4 65-125/0.75 0.75 1 IE2 1.41 784 | 816 | 81.9 | 0.76 4.6 2.7 - 320 | 185 -
3(.)M4 65-125/1.1 1.1 1.5 IE2 1.41 784 | 816 | 81.9 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 65-160/1.1 1.1 1.5 IE2 1.41 784 | 816 | 81.9 | 0.76 4.6 2.7 - 320 | 185 -
3(.)M4 65-160/1.5 1.5 2 IE2 1.88 | 80.3 | 834 | 838 | 0.75 6.2 3.6 - 45.0 | 26.0 -
3(.)M4 65-160/2.2 2.2 3 IE2 270 | 846 | 86.0 | 856 | 0.83 8.1 47 - 52.0 | 30.0 -
3(.)M4 65-200/2.2R 2.2 3 IE2 270 | 846 | 86.0 | 856 | 0.83 8.1 4.7 - 52.0 | 30.0 -
3(.)M4 65-200/2.2 22 3 IE2 270 | 846 | 86.0 | 856 | 0.83 8.1 47 - 52.0 | 30.0 -
3(.)M4 65-200/3 4 IE2 354 | 816 | 86.1 89.0 | 0.75 | 11.8 6.8 - 79.7 | 46.0 -
3LM4 65-250/4 4 5.5 IE2 475 | 876 | 89.0 | 885 | 0.80 | 14.9 8.6 - 105.7 | 61.0 -

3LM4 65-250/5.5 5.5 7.5 IE2 6.52 | 747 | 819 | 886 | 0.83 - 11.3 6.6 - 114.0 | 66.1
3LM4 80-160/1.5 1.5 2 IE2 1.88 | 80.3 | 834 | 83.8 | 0.75 6.2 3.6 - 450 | 26.0 -
3LM4 80-160/2.2R 2.2 3 IE2 270 | 846 | 86.0 | 856 | 0.83 8.1 4.7 - 52.0 | 30.0 -
3LM4 80-160/2.2 22 3 IE2 270 | 846 | 86.0 | 856 | 0.83 8.1 47 - 52.0 | 30.0 -
3LM4 80-200/3 4 IE2 354 | 816 | 86.1 89.0 | 0.75 | 11.8 6.8 - 79.7 | 46.0 -
3LM4 80-200/4R 4 5.5 IE2 475 | 876 | 89.0 | 885 | 0.80 | 14.9 8.6 - 105.7 | 61.0 -
3LM4 80-200/4 4 5.5 IE2 475 | 876 | 89.0 | 885 | 0.80 | 14.9 8.6 - 105.7 | 61.0 -

3LM4 80-250/5.5R 5.5 7.5 IE2 652 | 747 | 819 | 88.6 | 0.83 - 11.3 6.6 - 114.0 | 66.1

3LM4 80-250/5.5 5.5 7.5 IE2 6.52 | 747 | 81.9 | 886 | 0.83 - 11.3 6.6 - 114.0 | 66.1

500

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

TECHNICAL DATA

50Hz

MOTOR DATA 3(.)S4-3(.)P4

Rev. G

Pump type Power Efficiency| Input Efficiency (% load) Full load current Locked rotor current
and power-factor [A] (Al
3(.)84 3(.)P4 kW] | [HP] kW] n% €S| »30v | 400V | 690V | 230V | 400V | 690V
50% | 75% | 100%

3(.)S4 32-125/0.25 3(.)P4 32-125/0.25 0.25 | 0.33 IE1 0.41 | 55.0 | 59.0 | 64.0 | 0.66 1.6 0.9 - 5.0 29 -
3(.)S4 32-160/0.37R 3(.)P4 32-160/0.37R 0.37 0.5 IE1 0.56 | 60.0 | 63.0 | 67.0 | 0.67 21 1.2 - 6.8 3.9 -
3(.)S4 32-160/0.37 3(.)P4 32-160/0.37 0.37 0.5 IE1 0.56 | 60.0 | 63.0 | 67.0 | 0.67 21 1.2 - 8.5 4.9 -
3(.)S4 32-200/0.55R 3(.)P4 32-200/0.55R 0.55 0.75 IE1 0.80 67.0 69.0 70.0 0.72 2.8 1.6 - 9.9 5.7 -
3(.)S4 32-200/0.55 3(.)P4 32-200/0.55 0.55 0.75 IE1 0.80 67.0 69.0 70.0 0.72 2.8 1.6 - 11.6 6.7 -
3(.)S4 32-200/0.75 3(.)P4 32-200/0.75 0.75 1 IE2 095 | 79.2 | 80.3 | 80.2 | 0.76 3.1 1.8 - 171 9.9 -
3(.)S4 40-125/0.37R 3(.)P4 40-125/0.37R 0.37 0.5 IE1 0.56 | 60.0 | 63.0 | 67.0 | 0.67 21 1.2 - 6.8 3.9 -
3(.)S4 40-125/0.37 3(.)P4 40-125/0.37 0.37 0.5 IE1 0.56 | 60.0 | 63.0 | 67.0 | 0.67 2.1 1.2 - 6.8 3.9 -
3(.)S4 40-160/0.55R 3(.)P4 40-160/0.55R 0.55 | 0.75 IE1 0.80 | 67.0 | 69.0 | 70.0 | 0.72 2.8 1.6 - 9.9 5.7 -
3(.)S4 40-160/0.55 3(.)P4 40-160/0.55 0.55 0.75 IE1 0.80 67.0 69.0 70.0 0.72 2.8 1.6 - 9.9 5.7 -
3(.)S4 40-200/1.1R 3(.)P4 40-200/1.1R 1.1 1.5 IE2 133 | 814 | 827 | 825 | 0.77 4.3 25 - 263 | 152 -
3(.)S4 40-200/1.1 3(.)P4 40-200/1.1 1.1 1.5 IE2 133 | 814 | 827 | 825 | 0.77 4.3 25 - 26.3 | 152 -
3(.)S4 40-200/1.5 3(.)P4 40-200/1.5 1.5 2 IE2 1.81 | 82.0 | 83.5 | 83.0 | 0.77 59 34 - 376 | 217 -
3(.)S4 50-125/0.55R 3(.)P4 50-125/0.55R 0.55 | 0.75 IE1 0.80 | 67.0 | 69.0 | 70.0 | 0.72 2.8 1.6 - 9.9 5.7 -
3(.)S4 50-125/0.55 3(.)P4 50-125/0.55 0.55 | 0.75 IE1 0.80 | 67.0 | 69.0 | 70.0 | 0.72 2.8 1.6 - 9.9 57 -
3(.)S4 50-160/1.1R 3(.)P4 50-160/1.1R 1.1 1.5 IE2 1.33 81.4 82.7 82.5 0.77 4.3 25 - 26.3 15.2 -
3(.)S4 50-160/1.1 3(.)P4 50-160/1.1 1.1 1.5 IE2 133 | 814 | 827 | 825 | 0.77 4.3 25 - 263 | 152 -
3(.)S4 50-200/1.5R 3(.)P4 50-200/1.5R 1.5 2 IE2 1.81 | 82.0 | 83.5 | 83.0 | 0.77 59 3.4 - 376 | 217 -
3(.)S4 50-200/1.5 3(.)P4 50-200/1.5 1.5 2 IE2 1.81 | 82.0 | 83.5 | 83.0 | 0.77 59 34 - 376 | 217 -
3(.)S4 50-200/2.2 3(.)P4 50-200/2.2 2.2 3 IE2 2.61 84.0 85.3 85.1 0.74 8.8 5.1 - 53.0 30.6 -
3(.)S4 65-125/0.55 3(.)P4 65-125/0.55 0.55 0.75 IE1 0.80 67.0 69.0 70.0 0.72 2.8 1.6 - 9.9 5.7 -
3(.)S4 65-125/0.75 3(.)P4 65-125/0.75 0.75 1 IE2 0.95 79.2 80.3 80.2 0.76 3.1 1.8 - 171 9.9 -
3(.)S4 65-125/1.1 3(.)P4 65-125/1.1 1.1 1.5 IE2 133 | 814 | 827 | 825 | 0.77 4.3 25 - 263 | 152 -
3(.)S4 65-160/1.1 3(.)P4 65-160/1.1 11 1.5 IE2 1.33 81.4 82.7 82.5 0.77 4.3 25 - 26.3 15.2 -
3(.)S4 65-160/1.5 3(.)P4 65-160/1.5 1.5 2 IE2 1.81 82.0 83.5 83.0 0.77 5.9 34 - 37.6 21.7 -
3(.)S4 65-160/2.2 3(.)P4 65-160/2.2 2.2 3 IE2 2.61 84.0 85.3 85.1 0.74 8.8 5.1 - 53.0 30.6 -
3(.)S4 65-200/2.2R 3(.)P4 65-200/2.2R 2.2 3 IE2 2.61 84.0 85.3 85.1 0.74 8.8 5.1 - 53.0 30.6 -
3(.)S4 65-200/2.2 3(.)P4 65-200/2.2 22 3 IE2 261 | 840 | 853 | 851 0.74 8.8 5.1 - 53.0 | 306 -
3(.)S4 65-200/3 3(.)P4 65-200/3 3 4 IE2 347 | 853 | 866 | 864 | 0.77 | 11.3 6.5 - 710 | 410 -
3LS4 65-250/4 3LP4 65-250/4 4 55 IE2 459 | 86.0 | 87.3 | 87.1 0.78 | 147 8.5 - 89.7 | 51.8 -
3LS4 65-250/5.5 3LP4 65-250/5.5 5.5 7.5 IE2 6.29 | 87.5 | 88.3 | 88.1 0.84 - 10.8 6.2 - 799 | 4641
3LS4 80-160/1.5 3LP4 80-160/1.5 1.5 2 IE2 1.81 82.0 83.5 83.0 0.77 5.9 34 - 37.6 21.7 -
3LS4 80-160/2.2R 3LP4 80-160/2.2R 2.2 3 IE2 2.61 84.0 85.3 85.1 0.74 8.8 5.1 - 53.0 30.6 -
3LS4 80-160/2.2 3LP4 80-160/2.2 2.2 3 IE2 261 | 84.0 | 853 | 85.1 0.74 8.8 5.1 - 53.0 | 306 -
3LS4 80-200/3 3LP4 80-200/3 3 4 IE2 347 | 853 | 866 | 864 | 0.77 | 11.3 6.5 - 710 | 410 -
3LS4 80-200/4R 3LP4 80-200/4R 4 5.5 IE2 459 | 86.0 | 87.3 | 87.1 0.78 | 147 8.5 - 89.7 | 51.8 -
3LS4 80-200/4 3LP4 80-200/4 4 55 IE2 4.59 86.0 87.3 87.1 0.78 14.7 8.5 - 89.7 51.8 -
3LS4 80-250/5.5R 3LP4 80-250/5.5R 5.5 7.5 IE2 6.29 87.5 88.3 88.1 0.84 - 10.8 6.2 - 79.9 46.1
3LS4 80-250/5.5 3LP4 80-250/5.5 55 7.5 IE2 6.29 87.5 88.3 88.1 0.84 - 10.8 6.2 - 79.9 46.1

3LS4 80-250/7.5 3LP4 80-250/7.5 7.5 10 IE2 848 | 885 | 894 | 89.2 | 0.85 - 14.4 8.3 - 106.5 | 61.5

501

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

TECHNICAL DATA 50Hz
Rev. G
NOISE DATA 3(.)M4
Power
Pump type LpA - dB(A) *
[kW] [HP]
3(.)M4 32-125/0.25 0.25 | 0.33
3(.)M4 32-160/0.37R 0.37 0.5
3(.)M4 32-160/0.37 0.37 | 05
3(.)M4 32-200/0.55R 0.55 | 0.75
3(.)M4 32-200/0.55 0.55 0.75
3(.)M4 32-200/0.75 0.75 1
3(.)M4 40-125/0.37R 0.37 0.5
3(.)M4 40-125/0.37 0.37 0.5
3(.)M4 40-160/0.55R 0.55 | 0.75
3(.)M4 40-160/0.55 0.55 0.75
3(.)M4 40-200/1.1R 1.1 15
3(.)M4 40-200/1.1 1.1 1.5
3(.)M4 40-200/1.5 1.5 2
3(.)M4 50-125/0.55R 0.55 | 0.75
3(.)M4 50-125/0.55 0.55 | 0.75 <70
3(.)M4 50-160/1.1R 1.1 15
3(.)M4 50-160/1.1 1.1 1.5
3(.)M4 50-200/1.5R 1.5
3(.)M4 50-200/1.5 1.5
3(.)M4 50-200/2.2 22
3(.)M4 65-125/0.55 0.55 0.75
3(.)M4 65-125/0.75 0.75 1
3(.)M4 65-125/1.1 1.1 1.5
3(.)M4 65-160/1.1 1.1 15
3(.)M4 65-160/1.5 1.5 2
3(.)M4 65-160/2.2 2.2 3
3(.)M4 65-200/2.2R 2.2 3
3(.)M4 65-200/2.2 22 3
3(.)M4 65-200/3 3 4
3LM4 65-250/4 4 55
3LM4 65-250/5.5 5.5 7.5 71
3LM4 80-160/1.5 15 2
3LM4 80-160/2.2R 22 3
3LM4 80-160/2.2 2.2 3
<70
3LM4 80-200/3 4
3LM4 80-200/4R 55
3LM4 80-200/4 5.5
3LM4 80-250/5.5R 5.5 7.5 71
3LM4 80-250/5.5 5.5 7.5
*Mean value of several measures at 1m distance around the pump.
Tolerance + 2.5 dB.
502

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



3 SERIES 4 Poles

50Hz

Rev. G

CENTRIFUGAL PUMPS

TECHNICAL DATA

NOISE DATA 3(.)S4-3(.)P4

Pump type Power
LpA - dB(A) *
3(.)S4 3(.)P4 kW] | [HP]
3(.)S4 32-125/0.25 3(.)P4 32-125/0.25 0.25 | 0.33
3(.)S4 32-160/0.37R 3(.)P4 32-160/0.37R 0.37 0.5
3(.)S4 32-160/0.37 3(.)P4 32-160/0.37 0.37 0.5
3(.)S4 32-200/0.55R 3(.)P4 32-200/0.55R 0.55 | 0.75
3(.)S4 32-200/0.55 3(.)P4 32-200/0.55 0.55 | 0.75
3(.)S4 32-200/0.75 3(.)P4 32-200/0.75 0.75 1
3(.)S4 40-125/0.37R 3(.)P4 40-125/0.37R 0.37 0.5
3(.)S4 40-125/0.37 3(.)P4 40-125/0.37 0.37 0.5
3(.)S4 40-160/0.55R 3(.)P4 40-160/0.55R 0.55 | 0.75
3(.)S4 40-160/0.55 3(.)P4 40-160/0.55 0.55 | 0.75
3(.)S4 40-200/1.1R 3(.)P4 40-200/1.1R 1.1 1.5
3(.)S4 40-200/1.1 3(.)P4 40-200/1.1 1.1 15
3(.)S4 40-200/1.5 3(.)P4 40-200/1.5 1.5 2
3(.)S4 50-125/0.55R 3(.)P4 50-125/0.55R 0.55 | 0.75
3(.)S4 50-125/0.55 3(.)P4 50-125/0.55 0.55 | 0.75
3(.)S4 50-160/1.1R 3(.)P4 50-160/1.1R 1.1 15
3(.)S4 50-160/1.1 3(.)P4 50-160/1.1 1.1 1.5
3(.)S4 50-200/1.5R 3(.)P4 50-200/1.5R 15 2
3(.)S4 50-200/1.5 3(.)P4 50-200/1.5 1.5 2
3(.)S4 50-200/2.2 3(.)P4 50-200/2.2 22 3 <70
3(.)S4 65-125/0.55 3(.)P4 65-125/0.55 0.55 | 0.75
3(.)S4 65-125/0.75 3(.)P4 65-125/0.75 0.75 1
3(.)S4 65-125/1.1 3(.)P4 65-125/1.1 1.1 1.5
3(.)S4 65-160/1.1 3(.)P4 65-160/1.1 1.1 1.5
3(.)S4 65-160/1.5 3(.)P4 65-160/1.5 1.5 2
3(.)S4 65-160/2.2 3(.)P4 65-160/2.2 22 3
3(.)S4 65-200/2.2R 3(.)P4 65-200/2.2R 22 3
3(.)S4 65-200/2.2 3(.)P4 65-200/2.2 22 3
3(.)S4 65-200/3 3(.)P4 65-200/3 3 4
3LS4 65-250/4 3LP4 65-250/4 4 55
3LS4 65-250/5.5 3LP4 65-250/5.5 55 7.5
3LS4 80-160/1.5 3LP4 80-160/1.5 15 2
3LS4 80-160/2.2R 3LP4 80-160/2.2R 22 3
3LS4 80-160/2.2 3LP4 80-160/2.2 22 3
3LS4 80-200/3 3LP4 80-200/3 3 4
3LS4 80-200/4R 3LP4 80-200/4R 4 55
3LS4 80-200/4 3LP4 80-200/4 4 5.5
3LS4 80-250/5.5R 3LP4 80-250/5.5R 55 75
3LS4 80-250/5.5 3LP4 80-250/5.5 55 7.5
3LS4 80-250/7.5 3LP4 80-250/7.5 7.5 10

*Mean value of several measures at 1m distance around the pump.
Tolerance + 2.5 dB.
Sound pressure level of motor pumps with AEG

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.




	3 SERIES 4Poles

	Contents
	Specification

	Selection chart
	Type key and curve specifications
	Performance curve 32-125 
	Performance curve 32-160

	Performance curve 32-200

	Performance curve 40-125

	Performance curve 40-160

	Performance curve 40-200

	Performance curve 50-125

	Performance curve 50-160

	Performance curve 50-200

	Performance curve 65-125

	Performance curve 65-160

	Performance curve 65-200

	Performance curve 65-250

	Performance curve 80-160

	Performance curve 80-200

	Performance curve 80-250


	Construction
	Sectional view drawing  3(.)M4 32, 40, 50, 65-125/160/200
	Sectional view table  3(.)M4 32, 40, 50, 65-125/160/200
	Sectional view drawing 3LM4 80-160
	Sectional view table  3LM4 80-160
	Sectional view drawing  3LM4 65-250, 80-200/250 
	Sectional view table 3LM4 65-250, 80-200/250 
	Sectional view drawing  3(.)S4 32, 40, 50, 65-125/160/200
	Sectional view table
  3(.)S4 32, 40, 50, 65-125/160/200
	Sectional view drawing 3LS4
 80-160 
	Sectional view table 3LS4
 80-160 
	Sectional view drawing 3LS4
 65-250, 80-200/250
	Sectional view table  3LS4
 65-250, 80-200/250
	Sectional view drawing 3(.)P4
 32, 40, 50, 65-125/160/200
	Sectional view table  3(.)P4
 32, 40, 50, 65-125/160/200
	Sectional view drawing  3LP4
 80-160 
	Sectional view drawing 3LP4
 65-250, 80-200/250
	Sectional view table 3LP4 80-160 
	Sectional view table 3LP4
 65-250, 80-200/250
	Bearings 3(.)M4-3(.)S4
	Bearings 3(.)P4

	Mechanical seal (standard, H and E version)
 
	Mechanical seal (L version Ø22)
 
	Mechanical seal (L version Ø30)
   
	Mechanical seal (HS version)

	Mechanical seal (HS and HSW version)
 
	Coupling 3(.)S4

	Flexible coupling 3(.)P
4
	Fittings


	Dimension and weight
	Pump 3(.)M4 32, 40, 50, 65-125/160/200
	Pump 3(.)M4
 65-250, 80 
	Pump 3(.)S4 32, 40, 50, 65-125/160

	Pump 3(.)S4 50, 65-160/200 
	Pump 3LS4 65-250, 80

	Pump 3LS4 80-160/1.5 
	Pump 3(.)P4 32, 4 0, 50, 65-125/160/200

	Pump 3LP4 65-250, 80

	Packing 3(.)M4

	Packing 3(.)S4

	Packing 3(.)P4


	Technical data
	Motor data 3(.)M4
 
	Motor data 3(.)S4-3(.)P4

	Noise data 3(.)M4

	Noise data 3(.)S4-3(.)P
4





